
CSJ PART # DESCRIPTION

01-100 JAW/JAW TURNBUCKLE - OLD 
01-110 JAW/JAW HANDY-LOCK TBKL, T 

01-110-C JAW/JAW HANDYLOCK TBKL, 
01-113 JAW/SWAGE HANDY-LOCK TBKL 

01-113-C JAW/SWAGE HANDY-LOCK TBKL 
01-114 JAW/SWAGE HANDY-LOCK TBKL 

01-114-C JAW/SWAGE HANDY-LOCK TBKL 
01-114-C-12 JAW/SWAGE HANDILOCK TBKL 1/8, 

01-115 JAW/SWAGE HANDY-LOCK TBKL 
01-115-C JAW/SWAGE HANDY-LOCK TBKL 

01-2900-6-316SS SPLICE LINE EYE/ SPLICE LINE EYE
01-316 HANDY LOCK TRBKL FOR 3/16" 
01-50-1 01 HANDYLOCK BODY W/ RH OLD 
01-60-1 01 HANDYLOCK BODY W/ RH T 
02-100 JAW/JAW BACKSTAY TBKL

02-100-1 JAW/JAW BACKSTAY TBKL W/1 QR 
02-100-2 JAW/JAW BACKSTAY TBKL W/2 QR 
02-106 JAW/SWAGE BACKSTAY TBKL 3/16

02-106-1 JAW/SWAGE BACKSTAY TBKL 3/16 
02-107 JAW/SWAGE BACKSTAY TBKL 7/32

02-107-1 JAW/SWAGE BACKSTAY TBKL 7/32 
02-108 JAW/SWAGE BACKSTAY TBKL 1/4

02-108-1 JAW/SWAGE BACKSTAY TBKL 1/4 
02-108-2HM SPECIAL TBKL FOR HARRY MILLER
02-34-612 02 SERIES FINISHED HANDYLOCK 

02-35 3/8-24 LH SQUARE NUT
02-35-1 3/8-24 RH SQUARE NUT
02-50 BODY & LOWER JAW
02-80 RH JAW WITH HANDLE 02 SERIES 

02-80-1 RH JAW W/O HANDLE
02-80-2 02 SERIES RH UPPER JAW 

02-80-623 02 SERIES UPPER HANDLE W/ 3/16 
02-80-624 02 SERIES UPPER HANDLE W/ 7/32 
02-80-625 02 SERIES UPPER HANDLE W/ 1/4 

02-81 LH JAW WITH SQUARE NUT
02-81-2 02 SERIES LH JAW W/ SQUARE NUT 
02-85 UPPER HANDLE 02 SERIES

02-85-L LOWER HANDLE
03-110 JAW/JAW TUBULAR TBKL T TOGGLE 

03-110-1T DECK TOG TO DECK TOG
03-110-1TL DECK TO DECK W/EX NUTS, LONG
03-110-LNP 10-32 J&J TBKL W/8.25"BODY AND

03-112 JAW/SWAGE TUBULAR TBKL 1/16
03-112-3 SWAGE TO SWAGE 1/16"
03-113 JAW/SWAGE TUBULAR TBKL 3/32

2024 LIST PRICE

226.00
210.25
225.75
212.75
228.25
212.00
227.50
232.00
214.25
229.75
262.75
209.75
196.25
189.25
511.75
519.25
529.00
474.75
484.75
444.25
511.50
521.25
458.75
468.50
452.25
8.00
8.00

394.00
116.75
64.00
126.50
81.00
117.75
65.00
54.25
64.00
19.00
31.00
30.00
32.00
39.50
30.00
36.25
48.00
32.00

Page 1

Maxwell Johnson
Underline



03-113-12 JAW/SWAGE TUBULAR TBKL 3/32, 38.00
03-113-3 SWAGE & SWAGE TBKL 3/32 WIRE 45.25
03-150 10-32 LH JAW AND RH EYE 33.75

03-150-12 10-32 RH JAW AND LH EYE 32.50
03-155 10-32 EYE AND EYE TUBULAR 37.50
03-500 10-32 RH EYE BOLT 12.25

03-500-1 10-32 EYE BOLT LH 11.75
03-50-1 TBKL BODY WITH RH JAW 18.75
03-600 10-32 RH HOOK 316 STAINLESS 22.25

03-600-1 10-32 LH HOOK 316 STAINLESS 22.25
03-610 10-32 HOOK AND EYE TURNBUCKLE 37.50
03-650 10-32 HOOK AND JAW TURNBUCKLE 36.50
03-655 10-32 HOOK AND HOOK TUBULAR 46.75
04-100 JAW/JAW TOGGLE NUT TUBULAR 57.25

04-100-1-10 1/4-28 OLD STYLE DECK TO DECK 65.00
04-100-1T DECK TOGGLE TO DECK TOGGLE 63.00

04-100-1T-5 DECK TOGGLE TO DECK TOGGLE 65.75
04-100-1T-8 DECK TOGGLE TO DECK TOGGLE 68.25

04-100S JAW/JAW TBKL 1/4-28 THRD W/OLD 54.25
04-103 JAW/SWAGE TUBULAR TBKL 3/32 49.75

04-103-12 JAW/SWAGE TUBULAR TBKL 3/32 55.00
04-104 JAW/SWAGE TUBULAR TBKL 1/8 48.75

04-104-12 JAW/SWAGE TUBULAR TBKL 1/8 54.75
04-104-5L JAW/SWAGE TUBULAR TBKL 1/8 63.50

04-105 JAW/SWAGE TUBULAR TBKL 5/32 51.25
04-105-12 JAW/SWAGE TUBULAR TBKL 5/32 59.00

04-10F 1/4-28 TBKL BODY W/ INTERUPTED 27.50
04-10F-1TS DECK TOGGLE TO SOLID BUTTON - 34.00

04-110 JAW/JAW TUBULAR TBKL T TOGGLE 42.25
04-110-10B JAW TO BALL TURNBUCKLE 1/4-28 38.75
04-110-1T DECK TOGGLE TO DECK TOGGLE 32.75

04-110-1T-10DS DECK TOGGLE TO DOME CAP TBKL 27.00
04-110-1T-10IDS DECK  TO DOME CAP TBKL USING 26.75

04-110-1T-DE DECK TOG TO DECK TOG DECKO 36.00
04-110-1TJ JAW/DECK TOGGLE TURNBUCKLE 38.25

04-110-1TJS 1/4-28 JAW TO DECK TOGGLE 33.75
04-110-1TS DECK TOGGLE TO DECK TOGGLE - 30.25

04-110-3 DECK TOGGLE STAMPING 04 6.75
04-110-3-1 48-570 BASE STAMPING 13.00
04-110-DE JAW/JAW DECKO TBKL T TOGGLE 43.25
04-110-NP JAW AND JAW TBKL W/O CLEVIS 38.50
04-110S JAW/JAW TUBULAR TBKL, SHORT 37.50

04-110S-4 JAW AND JAW TBKL WITH EXTRA 38.00
04-110-TF DECK & SOLID BUTTON TBKL 33.00

04-111 SMALL D-RING 8.50
04-113 JAW/SWAGE TUBULAR TBKL 3/32 43.75

04-113-1T DECK TOGGLE TURNBUCKLE 3/32 40.00

Page 2



04-114 JAW/SWAGE TUBULAR TBKL 1/8 42.75
04-114-12 JAW/SWAGE TUBULAR TBKL 1/8 45.75
04-114-1T 1/8" DECK TOGGLE W/ RIG. STUD 33.50
04-114-6 SWAGE/SWAGE TBKL 1/8 WIRE 47.50

04-114-NP JAW/SWAGE TUBULAR TBKL 1/8 40.75
04-115 JAW/SWAGE TUBULAR TBKL 5/32 45.00

04-115-12 JAW/SWAGE TUBULAR TBKL 5/32 50.25
04-115-6 SWAGE/SWAGE TUBULAR TBKL 64.00

04-115-NP JAW/SWAGE TUBULAR TBKL 5/32 43.00
04-115-S JAW/SWAGE TBKL 5/32 WIRE T 41.50
04-120 JAW/JAW TUBULAR SLOTTED 55.00
04-123 JAW/SWAGE TUBULAR TBKL 3/32 55.75
04-124 JAW/SWAGE SLOTTED TUBULAR 56.50

04-124-3 SWAGE/SWAGE TBKL 1/8 WIRE 61.00
04-125 JAW/SWAGE TUBULAR TBKL 5/32 58.25
04-150 1/4-28 LH JAW AND RH EYE 41.50

04-150-10F EYE TO DOME CAP TURNBUCKLE 39.50
04-150-10I 1/4-28 TUBULAR TURNBUCKLE ALL 34.25
04-150-12 1/4-28 RH JAW AND LH EYE 41.50

04-155 1/4-28 EYE AND EYE TUBULAR 42.50
04-155-S 1/4-28 EYE/EYE TBKL SHORTIE 40.00
04-214 FLATTENED JAW TBKL 1/8-HOBIE 43.00
04-215 FLAT JAW TBKL 5/32 45.25

04-22-306 INTERLOCKING EYE TO 118.50
04-50 TBKL BODY WITH LH JAW 37.25

04-500 1/4-28 EYE BOLT RH TYPE 316 12.50
04-500-1 1/4-28 EYE BOLT LH 11.50
04-50-1 BODY WITH RH JAW 36.00

04-50-10 BODY W/LH JAW STUD & NUTS 34.75
04-60 BODY WITH LH 'T' TOGGLE 28.25

04-600 1/4-28 RH HOOK TYPE 316 26.75
04-600-1 1/4-28 LH HOOK TYPE 316 26.75
04-60-1 BODY WITH RH 'T' TOGGLE 29.50

04-60-10I LH JAW TO ALL THREAD 35.00
04-60-1-10B 04 SERIES BODY WITH RH BALL 26.75
04-60-1-1T 1/4-28 TUBULAR TBKL W/RH DECK 26.00
04-60-1T 1/4-28 TURNBUCKLE W/LH T STYLE 26.25

04-60-1TS LH DECK TOGGLE SHORTIE 24.00
04-60S SHORTIE BODY W/LH JAW 25.50
04-610 1/4-28 HOOK AND EYE 43.50
04-612 EYE TO SWAGE TUBULAR TBKL 45.50
04-650 1/4-28 HOOK AND JAW 43.00
04-655 1/4-28 HOOK AND HOOK 50.25
05-100 JAW/JAW TBKL, BARREL NUT 60.75
05-105 JAW/SWAGE TUBULAR TBKL 5/32 58.75
05-106 JAW/SWAGE TUBULAR TBKL 3/16 64.00

05-106-150 EYE/SWAGE TUBULAR TBKL 3/16 58.00

Page 3



05-106-F 5/16-24 BUTTON TO BUTTON 39.50
05-110 JAW/JAW TUBULAR TBKL, T-STYLE 57.00

05-110-1T 5/16-24 DECK TOGGLE TO DECK 56.00
05-115 JAW/SWAGE TUBULAR TBKL 5/32 55.75

05-115-12 JAW/SWAGE TUBULAR TBKL 5/32 49.50
05-116 JAW/SWAGE TUBULAR TBKL 3/16 61.00

05-116EX JAW/SWAGE TUBULAR 57.75
05-116EX-10F BUTTON/SWAGE TUBULAR 51.00

05-150 5/16-24 LH JAW AND RH EYE 50.25
05-150-12 5/16-24 RH JAW AND LH EYE 53.50

05-155 5/16-24 EYE AND EYE TUBULAR 48.00
05-205 SWAGE/SWAGE Turnbuckle for 33.25
05-50 BODY WITH LH JAW          O/S JAW 41.00

05-500 5/16-24 EYE BOLT RH 11.25
05-500-1 5/16-24 EYE BOLT LH 16.00
05-50-1 BODY WITH RH JAW            O/S JAW 40.50
05-60 BODY W/LH "T" JAW 38.00

05-600 5/16-24 RH HOOK TYPE 316 24.75
05-600-1 5/16-24 LH HOOK TYPE 316 24.75
05-60-1 BODY W/RH "T" JAW 38.00
05-610 5/16-24 HOOK AND EYE 56.25
05-650 5/16-24 HOOK AND JAW 58.50
05-655 5/16-24 HOOK AND HOOK 61.75
05-7F 5/16 TUBULAR TURNBUCKLE BODY 32.75
06-100 JAW/JAW TUBULAR TBKL TO 1/4 96.75
06-106 JAW/SWAGE TUBULAR TBKL 3/16 96.75

06-106-10FN-CT 06-106 W/ 3/16 WIRE SWAGE END 171.75
06-106-4 06-106 W/O STAMPING OR PINS 42.25
06-107 JAW/SWAGE TUBULAR TBKL 7/32 113.25
06-108 JAW/SWAGE TUBULAR TBKL 1/4 97.25

06-108-2 SWAGE TO SWAGE 1/4 WIRE 104.50
06-110 JAW/JAW TUBULAR TBKL - T-STYLE 99.50
06-116 JAW/SWAGE TUBULAR TBKL 3/16 97.00

06-116-2 TERMINAL TO TERMINAL TBKL 3/16 86.25
06-116-SL JAW TO STA-LOK, 3/16" WIRE 272.50

06-117 JAW/SWAGE TUBULAR TBKL 7/32 113.50
06-118 JAW/SWAGE TUBULAR TBKL 1/4 97.50

06-118-12 JAW/SWAGE TUBULAR TNBKL 1/4" T 92.25
06-118-2 1/4" TERMINAL TO TERMINAL TBKL 104.50

06-118-2N 1/4" STUD TO STUD W/DBL NUTS 119.25
06-118EX JAW/SWAGE TUBULAR TBKL 1/4 97.25

06-150 3/8-24 LH JAW AND RH EYE 91.00
06-150-12 3/8-24 RH JAW AND LH EYE 92.50

06-155 3/8-24 EYE AND EYE TUBULAR 85.50
06-158 3/8-24 EYE AND SWAGE(LH) 91.00
06-205 THREADED RH & LF RODS NUTS & 61.00
06-50 BODY WITH LH JAW 75.50

Page 4



06-500 3/8-24 EYE BOLT RH 19.00
06-500-1 3/8-24 EYE BOLT LH 20.75
06-50-1 BODY WITH RH JAW 63.25
06-60 BODY W/LH 3/8-24 T STYLE JAW 70.25

06-600 3/8-24 RH HOOK TYPE 316 27.75
06-600-1 3/8-24 LH HOOK TYPE 316 27.75
06-60-1 3/8-24 TUBULAR T/B W/RH T STYLE 65.50
06-610 3/8-24 HOOK AND EYE 81.50
06-650 3/8-24 HOOK AND JAW 87.00
06-655 3/8-24 HOOK AND HOOK 83.25
07-100 JAW/JAW SLOTTED TUBULAR TBKL 73.00

07-100-4 JAW/JAW SLOTTED TUBULAR TBKL 75.25
07-105 JAW/SWAGE SLOTTED TBKL 5/32 70.00
07-110 JAW/JAW TUBULAR TBKL T STYLE 67.50

07-110-4 JAW/JAW SLOTTED TUBULAR TBKL 68.25
07-115 JAW/SWAGE TUBULAR TBKL 5/32 66.25
07-116 JAW/SWAGE TUBULAR TBKL 3/16 71.50
07-155 SLOTTED JAW & EYE TBKL 60.75

07-318-7 T STYLE J & S 1/4 WIRE, 5/16 PIN 65.75
07-50 BODY WITH LH JAW 53.50

07-50-1 SLOTTED TBKL W/BARREL NUT RH 54.50
07-60 SLOTTED TBKL W/LH T JAW 5/16-24 54.00

07-60-1 SLOTTED TBKL W/RH T JAW 50.25
08-100 JAW/JAW SLOTTED TBKL 128.25
08-106 JAW/SWAGE SLOTTED TBKL 3/16 119.00
08-107 JAW/SWAGE SLOTTED TBKL W/7/32 135.25
08-108 JAW/SWAGE SLOTTED TBKL 1/4 119.50

08-108-12 JAW/SWAGE SLOTTED TBKL 124.25
08-110 JAW/JAW SLOTTED TBKL 112.00
08-116 JAW/SWAGE TUBULAR TBKL 3/16 109.50

08-116-3 SWAGE/SWAGE TUBULAR SLOTTED 98.75
08-117 JAW/SWAGE TUBULAR TBKL 7/32 126.00
08-118 JAW/SWAGE TUBULAR TBKL 1/4 114.00

08-118-12 TUBULAR TBKL 1/4 -- RH 117.50
08-118-3 SWAGE TO SWAGE SLOTTED 127.25
082051 BULLS EYE FAIRLEAD NO INSERT 5.00
08-50 BODY WITH LH JAW 98.25

08-50-1 TBKL BODY WITH RH JAW 91.00
08-60 3/8-24 SLOTTED BODY W/ LH T 84.00

08-600 1/2-20 RH HOOK TYPE 316 55.50
08-600-1 1/2-20 LH HOOK TYPE 316 55.50
08-60-1 3/8-24 SLOTTED BODY W/ RH T 84.00
09-100 JAW/JAW SLOTTED TBKL BARREL 236.25

09-100-2 JAW/JAW, NO SLOT W/LOCKNUTS 213.25
09-108 JAW/SWAGE TUBULAR TBKL 1/4 216.25

09-108-2 JAW/SWAGE TUBULAR 193.25
09-109 JAW/SWAGE TUBULAR TBKL 9/32 206.75

Page 5



09-109-2 TUBULAR TBKL 9/32 NO SLOTS 184.00
09-110 JAW/SWAGE TUBULAR TBKL 5/16 243.75

09-110-02 JAW/SWAGE TUBULAR TBKL 5/16 221.00
09-110-2-12  RH JAW/SWAGE TUBULAR TBKL 172.75

09-110-6 STUD TO STUD TBKL 5/16 WIRE, NO 173.25
09-150 1/2-20 LH JAW AND RH EYE 183.75

09-150-12 1/2-20 RH JAW AND LH EYE 160.50
09-155 1/2-20 EYE AND EYE TUBULAR 131.00
09-50 BODY WITH LOWER JAW LH 162.75

09-500 1/2-20RH EYE BOLT WELDED AND 45.00
09-500-1 1/2-20LH EYE BOLT WELDED AND 45.00
09-50-2 1/2" TUBULAR TURNBUCKLE BODY 135.25
09-610 1/2-20 HOOK AND EYE 122.00
09-650 1/2-20 HOOK AND JAW 174.75
09-655 1/2-20 HOOK AND HOOK 131.50

1/2-5/16-PE 1/2-5/16 RH PULLING EGG 80.25
1/2-5/16-PELH 1/2-5/16 LH PULLING EGG 80.25
1/4-28X5/8SCS 1/4-28RH X 5/8" SOCKET CAP 10.75

1/4F .153"X.373" SEMI TUBULAR BRASS 1.50
1/4M 1/8"DIA,3/8"LG,.047"BRASS FLAT 1.50

1/4M&F COMPRESSION RIVET HANDYLOCK 2.75
1/4X1/4SS FLATHEAD RIVET 1/4 X 1/4 SS 14 1.75

10/32X7/8MS 10-32 X 7/8 RD HD MACH SCREW 38 1.50
100-04 TURNBUCKLE JAW LESS STUD 1/4- 12.75

100-04-C TURNBUCKLE JAW LESS STUD 1/4- 13.25
100-04LH TURNBUCKLE JAW LESS STUD 1/4- 10.75

100-11 04 SERIES 1/4-28RH 'T' ONLY 8.25
100-110-1 STANCHION TERMINAL 1/8 WIRE 8.75
100-11-1 TAKE-UP EYE 3/8-16X4"THREAD- 24.75

100-4 ALL-THREAD 4" 1/4-28 RH ROD 3.25
100-4-12 1/4-28RH X 12" FULLY THREADED 18.00
100-4-14  1/4-28 X 14" ALL THREADED ROD 20.25
100-4-18 1/4-28RH X 18" FULLY THREADED 24.50
100-4-2 1/4-28RH ALL THREAD 2" LONG 2.25
100-4-3 1/4-28RH X 3"ALL THREADED ROD 8.25
100-4-5 1/4-28 X 5" FULLY THREADED ROD 4.50
100-4-6 1/4-28 X 6" LONG THREADED ROD 11.25
100-4-8 1/4-28 X 8" LONG THREADED ROD 6.00

100-4-875 1/4-28 X 8.75" LONG THREADED 14.75
100-4B ALL THREAD W/BALL 8.00
100-4F 4" ALL THREAD W/SOLID BUTTON 8.50
100-4L 4 x 4 POST ROD ONLY 6 3/8" LONG 5.75

100-4-LB 4 X 4 POST ROD W/BALL 11.75
100-4-LF 4X4 POST ROD W/SOLID BUTTON 11.25
100-4S 1/4-28RH X 2" ALL THREADED ROD 1.75
100-50 .250 X 1 ROUND RIVET 2.25

100-5-12 5/16-24 X 12" ALL THREADED ROD 29.75

Page 6



100-5-2 5/16-24 x 2" ALL THREADED 2.25
100-5-2S 5/16-24RH X 1-5/8" ALL THREADED 4.75
100-5-3 5/16- 24RH X 3" LONG ALL THREAD 3.00
100-5-6 5/16-24 X 6" ALL THREADED ROD 5.50
100-5-8 5/15-24 RH X 8" All Thread Rod 10.50
100-6 TBKL JAW LESS STUD 5/16 13.50

100-6-1 TBKL JAW LESS STUD 3/8 25.50
100-6-2 TBKL JAW LESS STUD 1/2 54.75

100-6-2-12 LH TBKL JAW LESS STUD 1/2" 37.00
100-6-2NN 1/2" TOGGLE & PINS 34.50

100-6-3 TBKL JAW LESS STUD 5/8 133.00
100-6-35 5/8 RH TOGGLE NUT 57.00

100-7 5/16" PIN J&J SWIVEL W/O PINS 14.50
100-7-0 SWIVEL JAW STAMPING 6.00
100-700 SWIVEL JAW 17.25

100-700-IC 5/16" SWIVEL W/WIDE JAWS 34.50
100-9-8 1/2-20 X 8" 59.75
10-100 JAW/JAW TUBULAR TBKL BARREL 348.00

10-100-1 5/8-18 JAW AND JAW SLOTTED 468.00
10-100-2 JAW/JAW TUBULAR TURNBUCKLE  266.75
10-110 JAW/SWAGE TUBULAR TBKL 5/16 315.50

10-110-2 5/8-18 JAW TO SWAGE TUBULAR 242.25
10-110-6 5/8-18 SWAGE TO SWAGE TUBULAR 200.75
10-112 JAW/SWAGE TUBULAR TBKL 3/8 347.00

10-112-2 CLOSED BODY WITH LOCKNUTS 270.50
10-112-2-10F TERMINATION STUD/SWAGE TBKL 192.75
10-112-2WL 5/8-18 CLOSED BODY TBKL JAW TO 245.50
10-112-50 5/8-18 TURNBUCKLE WITH 32-630-1 122.25
10-112-6 SWAGE/SWAGE TBKL 3/8 WIRE 227.50
10-150 5/8-18 LH JAW AND RH EYE 218.25

10-150-12 5/8-18 RH JAW AND LH EYE 193.75
10-155 5/8-18 EYE AND EYE TUBULAR 163.00
10-50 TBKL WITH JAW 241.25

10-500 5/8-18RH EYE BOLT WELDED AND 58.50
10-500-1 5/8-18LH EYE BOLT WELDED AND 58.50
10-50-1 TURNBUCKLE W/JAW (5/8 RH) 144.00

10-50-NS 5/8" CLOSED BODY W/JAW, NO 163.50
10-600 5/8-18 RH HOOK TYPE 316 69.75

10-600-1 5/8-18 LH HOOK TYPE 316 69.75
10-610 5/8-18 HOOK AND EYE 161.75
10-650 5/8-18 HOOK AND JAW 217.25
10-655 5/8-18 HOOK AND HOOK 158.50
11-100 JAW/EYE STAY ADJUSTER 51.50

11-100-1 JAW/EYE STAY ADJUSTER -NO PINS 50.50
11-100-J JAW/JAW STAY ADJUSTER 49.50
11-102 JAW/SWAGE STAY ADJUSTER 1/16 58.75
11-103 JAW/SWAGE STAY ADJUSTER 3/32 52.50

Page 7



12-100 JAW/EYE STAY ADJUSTER 53.75
12-100-J JAW/JAW STAY ADJUSTER 56.75

12-100ME 12 SERIES LONG ADJ. W/WELDED 82.00
12-104 JAW/SWAGE STAY ADJUSTER 1/8 65.50

12-104-K JAW/SWAGE STAY ADJUSTER 1/8 69.00
12-105 JAW/SWAGE ADJUSTER FOR 5/32" 62.25

12-105-K JAW/SWAGE STAY ADJ 5/32 WIRE 65.75
12-120 RIGGING TOGGLES 1/4" PIN 17.25

12-120NP RIGGING TOGGLES WITHOUT PINS 14.25
12-121 RIGGING TOGGLE 5/16" PIN 25.75

12-121NP 5/16 TOGGLE STAMPING W/ 22.25
12-122 RIGGING TOGGLES 3/8" PIN 32.25

12-122NP TOGGLE STAMPING (STRAP) 3/8" 25.75
12-123 RIGGING TOGGLES 1/2" PIN 50.25

12-123NP 1/2 TOGGLE STAMPING ONLY 1/2" 37.75
12-124 RIGGING TOGGLES 5/8" PIN 108.00

12-124NP TOGGLE STAMPING (STRAP) 5/8" 88.25
12-125 RIGGING TOGGLE 3/4" 105.25

12-125NP 3/4" RIGGING PIN W/TUMBLE W/O 66.75
12-126 7/16" RIGGING TOGGLE 47.50
12-201 MARINE EYE 3/32 WIRE T316SS 26.25
12-202 MARINE EYE 1/8 WIRE T316SS 28.00
12-203 MARINE EYE 5/32 WIRE T316SS 32.00
12-204 MARINE EYE 3/16 WIRE T316SS 44.25
12-205 MARINE EYE 7/32 WIRE T316SS 62.75
12-206 MARINE EYE 1/4 WIRE T316SS 81.25
12-207 MARINE EYE 9/32 WIRE T316SS 88.00
12-208 MARINE EYE 5/16 WIRE T316SS 167.75
12-209 MARINE EYE 3/8 WIRE T316SS 193.00
12-210 MARINE EYE 7/16 WIRE T316SS 350.50
12-211 AIRCRAFT STYLE EYE 3/32 WIRE 11.50
12-212 AIRCRAFT STYLE EYE 1/8 WIRE 14.50
12-213 AIRCRAFT STYLE EYE 5/32 WIRE 20.50
12-214 AIRCRAFT STYLE EYE 3/16 WIRE 33.50
12-215 AIRCRAFT STYLE EYE 7/32 WIRE 49.25
12-216 AIRCRAFT STYLE EYES 1/4 WIRE 60.25
12-217 AIRCRAFT STYLE EYE 9/32 WIRE 162.50
12-218 AIRCRAFT STYLE EYE 5/16 WIRE 189.00
12-219 AIRCRAFT STYLE EYE 3/8 WIRE 260.00
12-221 AIRCRAFT STYLE FORKS 3/32 WIRE 26.75
12-222 AIRCRAFT STYLE FORK 1/8 WIRE 36.25

12-222-5 SINGLE REPLACEMENT BLADE FOR 269.75
12-222X AIRCRAFT STYLE FORK 1/8 WIRE 28.50
12-223 AIRCRAFT STYLE FORK 5/32 WIRE 38.25
12-224 AIRCRAFT STYLE FORK 3/16 WIRE 50.25
12-225 AIRCRAFT STYLE FORK 7/32 WIRE 83.25
12-226 AIRCRAFT STYLE FORK 1/4 WIRE 102.25

Page 8



12-227 AIRCRAFT STYLE FORK 9/32 WIRE 168.00
12-228 AIRCRAFT STYLE FORK 5/16 WIRE 220.75
12-229 AIRCRAFT STYLE FORK 3/8 WIRE 302.25
12-320 DOUBLE JAW TOGGLE 1/4 35.50

12-320NP DOUBLE JAW TOGGLE STAMPING 32.25
12-321 DOUBLE JAW TOGGLE 5/16 48.50

12-321NP DOUBLE JAW TOGGLES 5/16" 44.50
12-322 DOUBLE JAW TOGGLES 3/8" 53.25

12-322NP DOUBLE JAW TOGGLE 3/8" 47.00
12-323 DOUBLE JAW TOGGLES 1/2 91.25

12-323NP DOUBLE JAW TOGGLE 1/2" 60.75
12-323-T-M DOUBLE JAW TOGGLE 1/2" - 87.75

12-324 DOUBLE JAW TOGGLE 5/8 120.25
12-324NP DOUBLE JAW TOGGLE 5/8" 102.25

12-324-T-M DOUBLE JAW TOGGLE 5/8" - 115.25
12-325 DOUBLE TOGGLE JAW 3/4 145.00

12-325NP DOUBLE JAW TOGGLE 3/4" 106.25
12-326 7/16" PIN DOUBLE JAW RIGGING 60.25

12-326NP 7/16"PIN DOUBLE TOGGLE JAW 41.00
12-43-X 3/4" PIN FOR X7052 DIAMOND 18.25
14-101 RELEASE PAD 3.75
14-103 QUICK RELEASE EXTENDER 5/16" 19.00

14-103SA 5/16" 14 SERIES EXTENDER 18.25
14-112-12 1/4-28 OPEN BODY TBKL 1/8 RH 41.00
1418CHSS 1/4-20 X 1 1/8 HEX CAP SCREW B/S 1.00

14-200 Q R LEVER-NO STUD 1/4-28RH 102.00
14-200SA 14-200 BODY AND LEVER RIVETED 87.75

14-202 INNER LEVER 30.25
14-203 RELEASE EXTENDER 1/4" PIN 16.25

14-203SA 1/4" 14 SERIES EXTENDER 17.50
14-205 QUICK RELEASE LEVER 1/4 82.00

14-205/206SA 14 SERIES BODY AND HANDLE 55.50
14-205-1 QUICK RELEASE LEVER WITHOUT 76.25

14-205-CR QUICK RELEASE LEVER WITH 5/16" 104.50
14-205JY QUICK RELEASE LEVER 1/4"   75.25

14-206 QUICK RELEASE LEVER 5/16 75.50
14-206-1 QUICK RELEASE LEVER WITHOUT 69.00
14-206-2 MODIFIED QUICK RELEASE LEVER- 105.00

14-206-2W MELGES SPECIAL QR LEVER 96.00
14-210 QUICK RELEASE LEVER 5/32 109.25

14-210SA 14-200 BODY AND LEVER RIVETED 72.75
14-211 QUICK RELEASE LEVER 5/32 122.00

14-211-5 QUICK RELEASE LEVER W/5/16- 102.00
14-212 QUICK RELEASE LEVER 3/16 118.00

14-212-5 3/16" QUICK RELEASE LEVER--NO 102.25
14-212SA 14-200 BODY AND LEVER RIVETED 84.75

14-301 OUTER BODY STAMPING 5/16" 35.00

Page 9



14-302 LEVER INNER 28.50
14-303 EXTENDER STAMPING 5/16" QUICK 22.25
14-304 TRUNION 5/16" THD 14.50

14-304SS 1/4" SS TRUNION 13.75
15-203 SHROUD ADJUSTER 13.25
15-204 SHROUD ADJUSTER 11.75

15-204-1 SHROUD ADJUSTER 1/4" PIN 11.25
15-204-1NP ADJUSTER STAMPING 1/4" & 3/16" 9.50

15-205 1/4" STAY ADJUSTER 9.75
15-212 QUICK RELEASE ADJUSTER 1/4" PIN 51.75

15-212-1REV1 15 SERIES OUTER COVER FOR MINI 29.50
15-212-2 QR ADJUSTER WITH EXTRA PIN 57.25
15-212-3 QR ADJUSTER W/3 QR PINS 56.25
15-212R5 OUTER STAMPING 3/16" QUICK 21.50
15-212SA 15 SERIES BODY AND HANDLE 35.50
15-213-2 QUICK RELEASE LEVER STAMPING 11.75

15-213-2-1 FINISHED MINI ANCHOR CHAIN 22.75
16-204 STAY EXTENDER 1/4 16.75

16-204-5 STAY EXTENDER 16-204 W/O 11.00
16-205 STAY EXTENDER 5/16 26.00

16-205-5 STAY EXTENDER 16-205 W/O 17.75
16-206 STAY EXTENDER 3/8 49.00

16-206-5 STAY EXTENDER 16-206 W/O 21.75
16-208 STAY EXTENDER 1/2 56.25

16-208-5 STAY EXTENDER 16-208 W/O 28.50
16-210 STAY EXTENDER 5/8 114.75

16-210-5 STAY EXTENDER 16-210 W/O 62.25
16-212 3/4" PIN STAY EXTENDER 197.25
17-203 TOGGLE JAW 3/32 22.00

17-203-1 3/32" DECK TOGGLE 28.00
17-203-5 RIGGING JAW SWAGE END 3/32 11.50

17-203-5F 3/32 STANCHION TERMINAL 15.00
17-204 TOGGLE JAW 1/8 22.25

17-204-5 RIGGING JAW SWAGE END 1/8 10.50
17-204-5F TOGGLE JAW W/SOLID BUTTON 16.25

17-205 TOGGLE JAW 5/32 27.75
17-205-2 5/32 TOGGLE JAW WITH 5/16 PIN 26.00

17-205-2-5 RIGGING JAW SWAGE END 5/32 12.75
17-205-5 STUD ONLY 17-205 5/32 12.25
17-206 TOGGLE JAW 3/16 43.50

17-206-2-3 3/16 S.E. FOR "T" 5/16 THRD 17.50
17-206-4 17-206 W/O STAMPING OR PINS 28.50
17-206-5 STUD ONLY FOR 17-206 17.00

17-206-5EX 3/8-24RH X 5/8 TOGGLE STUD 3/16 19.25
17-206NP TOGGLE JAW 3/16-NO PIN 40.00

17-207 TOGGLE JAW 7/32 45.50
17-207-5 SWAGE END RIGGING TOGGLE 18.00

Page 10



17-208 TOGGLE JAW 1/4 41.75
17-208-5 STUD ONLY FOR 17-208 TOG JAW 21.00
17-208NP TOGGLE JAW 1/4-NO PIN 38.25
17-208-SL TOGGLE JAW/STA-LOK 1/4" 243.25

17-209 TOGGLE JAW 1/4 71.25
17-209-5 STUD ONLY FOR 17-209 TOGGLE 27.50
17-209NP TOGGLE JAW 1/4 - NO PIN 56.50

17-210 TOGGLE JAW 9/32 78.00
17-210-5 STUD ONLY FOR 17-210 37.00
17-210NP 9/32X1/2 TOGGLE JAW - NO PIN 63.25

17-211 TOGGLE JAW 5/16 109.00
17-211-5 RIGGING TOGGLE STUD 5/16 72.00
17-211NP TOGGLE JAW 5/16-NO PIN 94.25

17-212 TOGGLE JAW 5/16 176.00
17-212-5 RIGGING TOGGLE STUD 5/16W 5/8 53.75
17-212NP TOGGLE JAW 5/16 - NO PIN 148.00

17-213 TOGGLE JAW 3/8 171.00
17-213-5 RIGGING TOGGLE STUD 5/8 THD 3/8 49.50

17-213-5F STANCHION TERMINAL 3/8 WIRE 63.25
17-213NP TOGGLE JAW 3/8 -  NO PIN 145.00

17-214 TOGGLE JAW 1/8" 22.75
17-214-5 "T" ONLY     W/1-1/2" HOLE   SAME 16.25
17-215-2 T TOGGLE JAW, 5/32 WIRE 21.75

17-215-2-5 5/32 WIRE 5/16-24RH STUD FOR 17- 14.00
17-216 T TOGGLE JAW, 3/16 WIRE 28.00

17-216-1T DECK TOGGLE 3/16 WIRE 25.50
19-10-1T 1/4-28 DECK TOGGLE TO 4" ALL 29.50

19-10-1TS 1/4-28 DECK TOGGLE TO 3" ALL 26.50
19-10F-1TS DECK TOGGLE TO DOME CAP TBKL 33.25
19-110-1T 1/4-24 JAW TO DECK TOGGLE TBKL 38.50

19-110-1T-DE JAW TO DECK TOGGLE DECKO 39.50
19-126-3 1/8" SWAGE & HAND CRIMP TBKL 41.50
19-304 TUBULAR TBKL W/TOGGLE NUT 45.25

19-304-1 TBKL DECK TOGGLE 1/8", OLD 50.50
19-304-2 SPECIAL TURNBUCKLE 42.75
19-305 J&S TBKL 5/32 47.75

19-305-1 J & S DECK TOGGLE 5/32 52.75
19-306 TUBULAR TBKL W/OLD STYLE JAW- 50.00

19-306-12 TUBULAR TBKL W/LH OLD STYLE 48.00
19-306-1-DE OLD STYLE DECKO TBKL 3/16 56.00
19-306-1S SHORT DECK TOGGLE 3/16 OLD 49.25
19-306-1-X 304 DECK TOGGLE TBKL 3/16 46.00
19-306-516 3/16"WIRE SWAGE TO JAW W/ 69.75
19-306-X 304 OLD STYLE TBKL 40.75
19-308 TUBULAR TBKL JAW TO SWAGE 1/4" 99.00

19-308-12 TUBULAR TBKL 1/4-RH 111.00
19-308-2 S&S TBKL 1/4" 87.50

Page 11



19-308-27 S&S TBKL 1/4" 52.50
19-308-3 EYE & S TBKL 1/4 (U-TECH) 88.25
19-308-7 JAW & SWAGE TBKL 1/4 WIRE 57.00

19-308-7-12 S&T TBKL 1/2 - RH 55.25
19-308-7-5 1/4"SWAGE TO ALL THREAD 44.75

19-308-7-AM 1/4" EXTRA NUT W/ACORN NUT 47.25
19-308-7AN 5/16-24 THREAD 1/4"WIRE 7/32 46.50
19-308-7B BALL & SWAGE TBKL 1/4 48.75

19-308-7BBSP 19-308 W/ 1/4" SWAGE END AND LH 40.25
19-308-7F SOLID BUTTON & SWAGE TBKL 1/4 49.25

19-308-7F-L 1/4" WIRE TO 8" ALL THREADED 48.25
19-308-7F-XL BUTTON/SWAGE 63.25
19-308-7-NP JAW AND SWAGE TBKLE 1/4" WIRE 52.50
19-308-7SF SOLID BUTTON & SWAGE TBKL 1/4 45.75
19-308-7V VERSA BALL TURNBUCKLE-1/4 46.75

19-314 JAW TO SWAGE TUBULAR TBKL 1/8 39.75
19-314-10 1/8"LL TBKL TO 4" INTERUPTED 27.50

19-314-10B BALL & SWAGE TBKL  1/8" 36.75
19-314-10B-DE BALL & SWAGE DECKO TBKL 1/8 40.50
19-314-10BS SWAGE TO BALL SHORTIE TBKL 34.50
19-314-10-DE STUD TO SWAGE DECKO TBKL 1/8 35.75

19-314-10F SOLID BUTTON & SWAGE TBKL 1/8 37.75
19-314-10-F-DE SOLID BUTTON TO SWAGE DECKO 34.25

19-314-10F-DE-L DECKO BUTTON TBKL 1/8" WIRE 43.50
19-314-10FS SOLID BUTTON & SWAGE TBKL 1/8 35.50
19-314-10-FS SOLID BUTTON & SWAGE TBKL - 35.50

19-314-10I 1/8" SWAGE TO ALL THREAD TBKL 31.25
19-314-10IB BALL & INTRUPT SWAGE TBKL 1/8 35.75
19-314-10IF SOLID BUTTON & SWAGE TBKL 1/8 36.75

19-314-10-LANS 1/4-24 SHORTY TURNBUCKLE 33.25
19-314-10LB BALL & SWAGE TBKLE -LONG- 1/8 38.75
19-314-10LF SOLID BUTTON & SWAGE TBKLE - 39.75

19-314-10LFS BUTTON TBL SHORT BODY, LONG 37.00
19-314-10S SHORTIE RH STUD TO 1/8" SWAGE 30.00

19-314-10XLF 1/8" SWAGE TO 8" ALL THREADED 39.25
19-314-12 TUBULAR TBKL 1/8-RH SWAGE 39.00

19-314-12-DE RH DECKO TBKL 1/8 41.50
19-314-1T DECK TOGGLE TBKL 1/8 36.00

19-314-1T-12 DECK TOGGLE TBKL RH 1/8 36.50
19-314-1T-DE DECK TOGGLE TO SWAGE DECKO 39.00
19-314-1TS DECK TOGGLE TBKL W/SHORT 33.00

19-314-1TS-12 DECK TOGGLE TBKL SHORT RH 1/8 32.75
19-314-1TS-SPEC 1/8" SWAGE TO FLATTENED JAW 36.50

19-314-2 TUBULAR TBKL 1/8 JAW TO SWAGE 45.75
19-314-3 TBKL W/SWAGE BOTH ENDS 1/8 38.50

19-314-3-DE SWAGE TO SWAGE DECKO TBKL 41.75
19-314-3S 1/8" SWAGE TO SWAGE - SHORTIE 35.75

Page 12



19-314-DE DECKO TBKL 1/8 43.50
19-314-NP 1/8" JAW/SWAGE TBKL - NO PIN 37.75
19-314-PB JAW AND SWAGE TUBULAR 45.00
19-314S JAW TO SWAGE SHORT TUBULAR 36.75

19-314S-12 SHORT TUBULAR TBKL 1/8 RH 35.50
19-314S-NP JAW TO SWAGE SHORT TUBULAR 33.75
19-314WLJN  TURNBUCKLE 1/8" WIRE TO WIDE 49.00

19-315 J&S TBKL 5/32 42.00
19-315-10B BALL TO SWAGE TBKL 5/32 39.00
19-315-10F 5/32 TBKL WITH SOLID BUTTON 40.00
19-315-10I 5" ALL THREAD TO SWAGE TBKL 34.25

19-315-10LF BUTTON & SWAGE TURNBUCKLE 42.00
19-315-12 J&S TBKL 5/32 RH 37.00
19-315-1T DECK TOGGLE TBKL 5/32 38.25

19-315-1T-DE DECK TOGGLE TO SWAGE DECKO 45.25
19-315-1TS SHORT DECK TOGGLE TBKL 39.25

19-315-2 S&S TBKL 5/32 38.75
19-315S J&S TBKL 5/32 SHORT 38.50
19-316 TUBULAR TBKL 3/16 J&S 44.50

19-316-10 3/16 MACHINE SWAGE TO 33.00
19-316-10B BALL & SWAGE TBKL 3/16 41.50

19-316-10B-DE BALL & SWAGE DECKO TBKL 3/16 42.25
19-316-10BL BALL END & SWAGE TBKL - LONG - 40.25
19-316-10BS SHORT BALL & SWAGE TBKL 3/16 36.25
19-316-10C 1/4-28 CONE & SWAGE TBKL 3/16 39.00
19-316-10D OPEN BUTTON & SWAGE TBKL 3/16 40.00

19-316-10-DE THREADED ROD & SWAGE DECKO 37.50
19-316-10F SOLID BUTTON & SWAGE TBKL 3/16 42.50

19-316-10F-DE SOLID BUTTON & SWAGE DECKO 43.25
19-316-10FL SOLID BUTTON & SWAGE TBKL - 44.50

19-316-10FL-DE SOLID BUTTON & SWAGE DECKO 41.00
19-316-10FL-X LONG 304 BUTTON AND SWAGE 35.25
19-316-10FS SOLID BUTTON & SWAGE TBKL - 37.25

19-316-10F-WJ WIDE JAW & SWAGE TBKL W/SOLID 48.00
19-316-10F-WJ-X JAW & SWAGE TURNBUCKLE 38.75

19-316-10FX SOLID BUTTON & SWAGE TBKL -304- 33.25
19-316-10I 1/4-28 TUBULAR TBKL 3/16 WIRE TO 36.00

19-316-10IAN ACORN NUT & SWAGE TBKL 3/16 37.00
19-316-10IB BALL & INTRUPT SWAGE TBKL 3/16 40.50

19-316-10IBX BALL & INTRUPT SWAGE TBKL 31.25
19-316-10IF SOLID BUTTON & SWAGE TBKL 3/16 41.50

19-316-10IF-12 SOLID BUTTON & SWAGE TBKL 3/16 56.50
19-316-10IXLF SOLID BUTTON & SWAGE TBKL 3/16 44.25

19-316-10L 3/16"W TO INERUPTED THREAD 38.75
19-316-10LB BALL & SWAGE LONG TBKL 43.50

19-316-10LB-X LONG 304 BALL & SWAGE TBKL 3/16 34.25
19-316-12 LL TBKL 3/16 WIRE-316-RH 43.00

Page 13



19-316-12-DE RH DECKO TBKL 3/16 44.00
19-316-1T 3/16" DECK TOGGLE TBKL MS 40.75

19-316-1T10F-DE SPECIAL BUTTON AND DECK 50.00
19-316-1T-12 3/16" NEW STYLE DECK TOGGLE 41.00
19-316-1T-DE DECK TOGGLE & SWAGE DECKO 40.75
19-316-1TS SHORT DECK TOGGLE TBKL 34.75

19-316-1TS-12 RH SHORT DECK TOGGLE TBKL 34.75
19-316-1TSR 3/16" DECK TOGGLE TO STANCHION 31.00
19-316-1T-X DECK TOGGLE TBKL 3/16 33.75
19-316-5-6 5/16 THREAD STUD TO STUD TBKL 47.75
19-316-6 TUBULAR TBKL 3/16-STUD BOTH 47.25

19-316-6-DE SWAGE TO SWAGE DECKO TBKL 46.00
19-316-6S 3/16 STUD TO STUD SHORT TBKL 40.00
19-316-DE DECKO TBKL 3/16 44.50

19-316-DE-F BUTTON DECKO WITH LONGER 42.25
19-316-DE-FS BUTTON DECKO WITH SHORTER 40.25
19-316-DE-PB DECKO JAW TB 3/16" x 1/4 49.50

19-316NJ BODY, STUD AND NUTS 33.25
19-316NP TUBULAR TRNBKL 3/16" J&S W/O 42.25
19-316-PB JAW & SWAGE TUBULAR 49.25
19-316S SHORT TUBULAR TBKL J/S 3/16 38.50

19-316S-12 SHORT TUBULAR TBKL 3/16RH 38.25
19-316S-NP 3/16 JAW/SWAGE, NO PIN, SHORTIE 35.50
19-316S-PB 1/4-28JAW&SWAGE SHORT 42.25
19-316SWJN TURNBUCKLE 3/16" WIDE JAW 39.00

19-316SWLJN SHORTY TURNBUCKLE 3/16" WIRE 48.50
19-316WLJN LONG WIDE JAW TBKL 3/16" WIRE 53.75
19-316X-12 304 TUBULAR TBKL 3/16 RH 33.75
19-316-X-12 304 TUBULAR TBKL 3/16-RH 34.00

19-316-X-12-DE RH DECKO TBKL 3/16 (T304) 38.00
19-316-X-DE DECKO TBKL 3/16 (T304) 43.50
19-316-XNP 3/16 JAW/SWAGE, NO PIN 33.25

19-316-XNP-12 3/16 LH JAW/RH SWAGE, NO PIN 33.50
19-316-XNP-12S 3/16 JAW/SWAGE, NO PIN, 31.75
19-316-X-NP-S 3/16 JAW/SWAGE, NO PIN, SHORTIE 34.75

19-316-XS SHORT 304 TUBULAR TBKL 3/16 37.75
19-316-XS-12 SHORT 304 TUBULAR TBKL 3/16 RH 33.50

19-318 3/8-24 TUBULAR TBKL JAW TO 79.75
19-318-1T T STYLE DECK TO SWAGE, 1/4 55.00

19-318-1T-12 T STYLE DECK TO SWAGE 1/4 RH 52.00
19-318-1T-NO-T 19-318-1T W/O T BOLT 47.50

19-318-7 T STYLE J & S 1/4 WIRE, 5/16 PIN 55.00
19-318-7-12 T STYLE J & S 1/4 WIRE RH, 5/16 PIN 53.25
19-318-7-NP T STYLE J & S 1/4 WIRE WITH NO 52.50

19-318-7-WJN WIDE JAW TO 1/4" WIRE 55.25
19-324 TUBULAR TBKL 1/8 51.25
19-325 J&S SLOTTED TBKL 5/32 53.50

Page 14



19-326 TUBULAR TBKL 3/16 56.00
19-326-6 3/16" SWAGE TO SWAGE TBKL 59.50
19-328 TUBULAR TBKL 1/4 105.00
20-100 1/4 EYE TO EYE TBKL 66.25
20-304 TUBULAR TBKL 1/8 58.50
20-305 E&S TUBULAR TBKL 5/32 61.00

20-305S SWAGE TO EYE TNBL FOR 5/32" 51.00
20-306 TUBULAR TBKL 3/16 55.75

20-306-10 GATE EYE TO 3/16" SWAGE TBKL W/ 57.75
20-306-10F GATE EYE TO DOME CAP 1/4-28 81.00
20-306-5B EYE & BALL 1/4" TBKL 58.50
20-306-IE JAW & DOUBLE EYE TNBL 3/16" 79.50

20-308 TUBULAR TBKL 1/4 101.25
20-308-7 GATE EYE TO SWAGE TBKL 1/4" 65.00

20-43-116 GATE EYE TO 3/16 SWAGE OPEN 127.00
20-51 GATE EYE W/ 1/4-28 LH STUD 24.00
20-52 1/4-28 RH EYE WITH STUD 23.25

20-52L 4" ROD RH WITH EYE 22.25
20-53 GATE EYE, W/ 5/16-24 LH STUD 29.50

20-53-1 5/16-24RH STUD W/ LIFELINE EYE 28.50
20-54 GATE EYE WITH RH ROD 3/8-24 23.25
20-55 GATE EYE W/3/8 LH ROD 23.25
20-61 SPLICE END W/THREADED STUD 31.75

20-61-316SS 1/4-28 X 2-1/2" LH WITH 316SS 39.00
20-62 SPLICE END W/THREADED STUD 30.00

20-62-10FS SPLICE EYE W/THREADED STUD RH 33.50
20-62-316SS 1/4-28 X 2-1/2" RH WITH 316SS 39.00

20-63 SPLICE END W/THREADED STUD 29.75
20-63-316SS 316SS SPLICE END W/THREADED 50.25

20-64 SPLICE END W/THREADED STUD 29.00
20-64-10FS SPLICE END TO BUTTON 30.25

20-64-10FS-316SS SPLICE BUTTON TO EYE FITTING 49.00
20-64-316SS 316SS SPLICE END W/RH 49.25

20-64-FSXL-316SS SPLICE END TO BUTTON EXTRA 51.50
21-304 TUBULAR PELICAN HOOK 1/8 41.25
21-305 PELICAN HOOK 5/32 43.50
21-306 TUBULAR PELICAN HOOK 3/16 46.00

21-306-12 RH TUBULAR PELICAN HOOK 3/16 46.00
21-50 TUBULAR PELICAN HOOK WITHOUT 34.25

21-50-1 TUBULAR PELICAN HOOK WITHOUT 34.00
21-71 MINI SNAP GATE HOOK BODY W/ 1/4- 47.00

21-71-1 MINI SNAP GATE HOOK W/ 1/4-28 59.25
21-71-6 M6 X 1 MINI SNAP GATE HOOK 47.00
21-750 MINI PIN REPAIR KIT/OVERCENTER 14.00
21-784 MINI SNAP GATE HOOK W/ 1/8" 55.50
21-785 MINI GATE HOOK FOR 5/32" WIRE 59.75
21-786 MINI SNAPGATE HOOK W/ 3/16 MS 57.50

Page 15



21-80 GATE HOOK,CAST,NO STUD 5/16 LH 80.00
21-80-1 GATE HOOK,CAST,NO STUD 5/16 RH 80.00
21-81 GATE HOOK,CAST,NO STUD 1/4" LH 80.00

21-81-12 GATE HOOK,CAST,NO STUD 1/4" RH 80.00
21-850 PIN REPAIR KIT OVER CENTER 14.50
21-88 METRIC GATE HOOK - NO STUD 80.00

21-884 MSWAGE SNAP GATE HOOK OVER 86.75
21-885 SNAP GATE HOOK OVER CTR - 5/32" 91.00
21-886 SNAP GATE HOOK OVER CTR MS 91.00

21-886-12 RH SNAP GATE HOOK OVER CTR - 91.00
21-886-14 SNAP GATE HOOK OVER CENTER 91.00
21-886EX 3/16 WIRE 5/16-24LH THREADS 95.00

21-888 SNAP GATE HOOK OVER CTR - 1/4" 95.00
21-888-7 SNAP GATE HOOK- 1/4 WIRE 7/32 95.00

21-888-7-12 SNAP GATE HOOK-RH-1/4 WIRE 7/32 95.00
21-888EX 1/4 WIRE 5/16-24LH PELICAN HOOK - 96.75
21-888-SL "OVER CENTER" W/STA-LOK 1/4" 319.00

22-100 STANCHION EYE TO EYE TERMINAL 65.25
22-100-4 1/4" DBL END STUD FOR ASSY 10.00

22-100-4F 1/4-28RH X 1-5/8" FULLY THREADED 19.00
22-100-L STANCHION EYE TO EYE TERMINAL 51.50
22-301 SINGLE GATE EYE 1/8 35.25

22-301DT EYE TO DECK TOGGLE FITTING 25.50
22-301-P GATE EYE WITHOUT STUD 27.50

22-301-P-12 RH GATE EYE W/O STUD 23.00
22-301TJ EYE TO JAW FITTING 29.00

22-302 INTERLOCKING GATE EYE 1/8 71.75
22-302-P INTERLOCKING GATE EYE NO STUD 54.50

22-302-P-12 INTERLOCKING GATE EYE W/O 46.75
22-303 SINGLE GATE EYE LH 3/16" 34.75

22-303-10 SINGLE GATE EYE WITH 1 3/4" 27.50
22-303-10FL SINGLE GATE EYE TO SOLID 31.00
22-303-10FS SINGLE GATE EYE TO SOLID 32.25

22-303-3P 3 WAY GATE EYE 98.00
22-303EX 3/16 WIRE SINGLE GATE EYE - 48.25
22-303-P SINGLE GATE EYE LH NO STUD 3/16 27.50

22-303-P-12 RH SINGLE GATE EYE - NO STUD - 24.25
22-304 INTERLOCKING GATE EYE 3/16 73.00

22-304-100 SINGLE EYE TO INTERLOCKING EYE 96.00
22-304-100-L EYE TO INTERLOCKING GATE EYE 63.75
22-304-10FL INTLKG GATE EYE TO SOLID 41.50
22-304-10FS INTLKG GATE EYE TO SOLID 45.50

22-304EX 3/16 WIRE DOUBLE GATE EYE - 98.50
22-304-L INTERLOCKING GATE EYE 3/16 W/ 78.75
22-304-P INTERLOCKING GATE EYE NO STUD 58.00

22-304-P-12 RH INTLKG GATE EYE - NO STUD - 51.25
22-305 SINGLE GATE EYE 1/4" 34.50

Page 16



22-305-7 SINGLE GATE EYE - 1/4",7/32 DIE 39.50
22-305EX 1/4 WIRE SINGLE GATE EYE - 60.00
22-305-P SINGLE GATE EYE NO STUD 1/4 23.00

22-305-P-12 RH SINGLE GATE EYE - NO STUD - 23.00
22-305-PEX SINGLE GATE EYE RH W/O STUD - 26.50

22-306 INTERLOCKING GATE EYE 1/4 70.00
22-306-7 DOUBLE GATE EYE 1/4", 7/32 DIE 82.75
22-306EX 1/4 WIRE DOUBLE GATE EYE - 119.00
22-306-P INTERLOCKING GATE EYE NO STUD 46.75

22-306-P-12 RH INTRLKG GATE EYE - NO STUD - 46.75
22-306-PEX DOUBLE GATE EYE W/O STUDS - 56.25

22-307 SINGLE GATE EYE 5/32 34.25
22-307FS FULL STREGNTH SINGLE GATE EYE 33.50

22-308 INTERLOCKING GATE EYE 5/32 69.50
22-308-H GATE EYE WITH BUTTON 32.75

22-308-HS 5/32 DOUBLE GATE EYE WITH 45.00
22-311 SWIVEL GATE EYE SINGLE 1/8 26.00
22-312 SWIVEL GATE EYE INTERLOCKING 52.00
22-313 SWIVEL GATE EYE SINGLE 3/16 30.50

22-313P FINISHED 22 SERIES 3/16 SINGLE 21.75
22-314 SWIVEL GATE EYE INTERLOCKING 58.25

22-314P FINISHED 22 SERIES 3/16 DOUBLE 43.50
22-317 SWIVEL GATE EYE SINGLE 5/32 33.00
22-318 SWIVEL GATE EYE INTERLOCKING 64.50

22-354-1 SWIVEL EYE COLLAR 4.75
22-50B GATE EYE TO BALL 30.25
23-301 SAFE LOCK PELICAN HOOK 1/8 51.00

23-301-12 SAFE LOCK PELICAN HOOK 1/8 RH 51.00
23-302 J&S ADJUSTER TBKL 1/8 65.75
23-303 ADJUSTER 1/8 30.25
23-51 LLAD ADJ STAMP 1/4-28LH W/PINS - 20.50

24-110-1TS DECK TOGGLE TO ADJUSTER 21.00
24-301 SAFE LOCK PELICAN HOOK 3/16 55.00

24-301-12 SAFE LOCK PELICAN HOOK 3/16 RH 55.50
24-301-1W PELICAN HOOK WITH LH JAW- 46.75

24-302 STAY ADJUSTER 3/16 51.75
24-303 ADJUSTER 3/16 27.00

24-303-12 SAME AS 24-303-SP, EXCEPT 26.75
24-303L LONG ADJUSTER FOR 3/16" WIRE 29.00
24-304 SAFE LOCK PELICAN HOOK 5/32 52.75
24-305 ADJUSTER 5/32 36.50
24-306 1/4" WIRE LIFE LINE ADJUSTER 29.50

24-308-7 ADJUSTER FOR 1/4" WIRE 7/32 34.00
24-308-7WJ WIDE JAW ADJUSTER FOR 1/4" 34.00

24-50 SAFE LOCK BODY W/LH KNURLED 39.75
24-50-12 SAFE LOCK BODY W/RH KNURLED 39.75
24-50W SAFE LOCK GATE HOOK W/ 41.75

Page 17



24-51 LLAD ADJ STAMP 5/16-24LH W/PINS - 14.25
25-110 JAW/JAW TOGGLE 32.00

25-110-NP J/J TBKL - NO PINS 29.50
25-304 TOGGLE JAW 1/8 21.00

25-304-1 DECK TOGGLE 1/8, OLD STYLE 26.25
25-304-2 1/8" TOGGLE JAW WITH 5/16" PIN 17.25
25-304-5 STUD FOR 25-304 SHORT LL 1/8 7.75

25-304-5B 1/8" BALL END TERMINAL 12.75
25-304-5D STANCHION TERM W/OPEN 11.25
25-304-5F STANCHION TERM. W/SOLID 12.75

25-304-5F-WJ MACHINE SWAGE END FITTING 20.50
25-305 TOGGLE JAW 5/32 20.50

25-305-1 DECK TOGGLE 5/32 26.75
25-305-5 5/32 STUD ONLY TOGGLE JAW 18.25

25-305-5B 5/32" BALL END TERMINAL 15.00
25-305-5F STANCHION TERMINAL W/SOLID 14.00
25-305-NP TOGGLE JAW, OLD STYLE, NO PIN 19.25

25-306 TOGGLE JAW 3/16 21.50
25-306-1 DECK TOGGLE 3/16, OLD STYLE 26.75
25-306-5 STUD ONLY FOR 25-306 TOGGLE 10.25

25-306-516 3/16" WIRE TOGGLE JAW W/ 5/16" 18.50
25-306-5AN ACORN NUT END TERMINAL FOR 12.00
25-306-5B BALL END TERMINAL FOR 3/16" 14.25
25-306-5C STANCHION TERMINAL W/ CONE 13.00
25-306-5D STANCHION TERM W/OPEN 12.50
25-306-5F STANCHION TERM W/SOLID 13.50

25-306-5F-WJ WIDE TOGGLE JAW W/SOLID 20.25
25-306-5F-WLJN LONG WIDE TOGGLE JAW W/SOLID 25.50

25-306-5LH 1/4-28LH 25-306 STUD 3/16" WIRE 18.50
25-306-8 3/8 PIN TOGGLE JAW FOR 3/16" 32.00

25-306-8-5 3/16 TOGGLE JAW STUD W/60-609 12.75
25-306WLJN LONG WIDE JAW TBKL 3/16" WIRE 23.75

25-308 TOGGLE JAW 1/4 38.00
25-308-5 TOGGLE JAW STUD 1/4 WIRE 3/8 21.00
25-308-7 TOGGLE JAW 1/4 (7/32" die) 23.50

25-308-7-5 TJ STUD 1/4 WIRE 5/16-24 RH 12.00
25-308-7-5AN 1/4"WIRE 7/32 SWAGE STANCHION 19.50
25-308-7-5B 1/4" BALL END TERMINAL 19.50
25-308-7-5D STANCHION TERMINAL WITH OPEN 17.75
25-308-7-5F STANCHION TERMINAL W/SOLID 17.75
25-308-7-5V VERSA BALL TERMINAL 1/4 19.00
25-308-7-NP TOGGLE JAW 1/4" WIRE 7/32 21.75
25-308-7SS TOGGLE JAW 1/4 W/SS TOGGLE 23.50

25-308-7SSLH TOGGLE JAW 1/4 W/SSLH TOGGLE 24.00
25-308-7-WJN TOGGLE 1/4" WIDE JAW 7/32 23.25

25-312-1T OLD STYLE DECK TERMINAL FOR 28.25
25-314 `T' TOGGLE JAW 1/8 18.00

Page 18



25-314-1T DECK TERMINAL 1/8" WIRE MS 14.50
25-314-1T-SPEC 1/8" SWAGE FLATTENED TOGGLE 17.25

25-314-5 1/8 MACHINE SWAGE 'T' ONLY 11.25
25-314-NP T' TOGGLE JAW 1/8 NO PIN 16.75
25-314-PB T STYLE TOGGLE JAW 1/8 WIRE W/ 23.75

25-314WLJN TOGGLE 1/8" WIDE LONG JAW 25.50
25-315 `T' TOGGLE JAW MS 5/32 21.75

25-315-1T DECK TERMINAL 5/32" WIRE MS 18.25
25-315-5 STUD ONLY FOR 25-315 TOGGLE 12.00
25-316 `T' TOGGLE JAW MS 3/16 19.25

25-316-1T DECK TERMINAL 3/16" WIRE MS 15.75
25-316-5 STUD ONLY FOR 25-316 TOGGLE 9.50

25-316-5-6 SWAGE/SWAGE STUD 3/16" 27.00
25-316AH TOGGLE JAW TERMINAL W/ ALLEN 11.50
25-316-L 3/16" EXTRA LONG TERMINAL MS 15.75

25-316-L5 25-316-5 WITH 1/4-28RH X 5" ALL 16.00
25-316-NP 3/16 TOGGLE JAW, NO PIN 18.00
25-316-PB T STYLE TOGGLE JAW 3/16 WIRE W/ 25.00
25-316WJN TOGGLE 3/16" WIDE JAW 20.00
25-318-1T DECK TERMINAL 1/4" WIRE MS 25.75

25-318-5-6-7 TERMINAL TO TERMINAL FITTING 30.25
25-318-7 T' TOGGLE JAW 1/4 25.50

25-318-7-5 TOGGLE JAW TERM. ONLY 1/4" 7/32 13.25
25-318-7-5L 25-318-7-5 STUD WITH 5/16-24 X 6" 25.75
25-318-7-NP T' TOGGLE JAW 1/4 WITHOUT PINS 23.50

25-318EX 3/8 PIN TOGGLE JAW 1/4 WIRE - 63.25
25-500 SMOOTH LINE THREADED 30.75

25-500-L SMOOTH LINE THREADED 30.00
25-502 SMOOTH LINE THREADED 31.50

25-502-L  SMOOTH LINE THREADED 31.75
25-504-3 SMOOTH LINE THREADED 42.00
25-504-6 SMOOTH LINE THREADED 44.00
25-600 SMOOTH LINE TOGGLE JAW MS 1/8" 38.75

25-600-1 SMOOTH LINE DECK TERMINAL MS 34.75
25-602 SMOOTH LINE TOGGLE JAW MS 39.50

25-602-1 SMOOTH LINE DECK TERMINAL MS 35.75
25-604 SMOOTH LINE TOGGLE JAW MS 1/4" 55.50

25-604-1 SMOOTH LINE DECK TERMINAL MS 58.00
25-610 SMOOTH LINE TERMINAL MS 1/8" 34.50

25-610-B SMOOTH LINE BALL TERMINAL MS 39.25
25-610-F SMOOTH LINE BUTTON TERMINAL 40.25

25-610-LB SMOOTH LINE BALL TERMINAL MS 34.75
25-610-LF SMOOTH LINE BUTTON TERMINAL 34.75

25-612 SMOOTH LINE TERMINAL MS 3/16" 30.00
25-612-B SMOOTH LINE BALL TERMINAL MS 40.00
25-612-F SMOOTH LINE BUTTON TERMINAL 40.75

25-612-LB SMOOTH LINE BALL TERMINAL MS 36.50

Page 19



25-612-LF SMOOTH LINE BUTTON TERMINAL 37.50
25-614 1/4" WIRE SMOOTHLINE END 46.00

25-614-B 1/4" WIRE SMOOTHLINE END 47.50
25-614-F 1/4" WIRE SMOOTHLINE END 47.00

25-614-LB SMOOTH LINE BALL TERMINAL MS 47.50
25-614-LF SMOOTH LINE BUTTON TERMINAL 47.50

26-302 ADJUSTER TBKL 1/8" HC 59.00
26-314 OB TBKL J&S 1/8-HC 83.25

26-314-12 OB TBKL J&S 1/8-HC 81.50
26-33-615S SHORT ADJUSTER WITH SHORT LH 26.50

26-401 TUBULAR TBKL EYE TO HC STUD 55.00
26-401S SHORT TUBULAR TBKL EYE TO HC 52.25
26-403 HAND CRIMP PELICAN HOOK 1/8 45.25
26-404 HAND CRIMP SAFE LOCK PELICAN 52.50
26-405 HAND CRIMP TOGGLE JAW 1/8 22.75

26-405-5 1/8 TJ STUD FOR 26-405 HAND 11.75
26-405-5B HC TERMINAL W/BALL END 1/8 16.00
26-405-5D STANCHION TERM W/OPEN 15.00
26-405-5F STANCHION TERM W/SOLID 15.00

26-405-5F-WJ WIDE TOGGLE JAW W/SOLID 20.00
26-406 HAND CRIMP ADJUSTER 1/8 32.50

26-406NP 26-406 W/O CLEVIS PIN OR RING 23.25
26-407 HAND CRIMP SINGLE GATE EYE 1/8 37.25
26-408 HANDCRIMP INTERLOCKING GATE 74.25
26-409 HANDCRIMP SING. SWIVEL GATE 33.75
26-410 HANDCRIMP INTLKG SWVL GATE 63.00
26-412 T TOGGLE JAW/SWAGE HC 43.50

26-412-10 HC TBKL W/ALL THREAD ONLY 1/8 32.75
26-412-10B BALL END/SWAGE HC TBKL 1/8 39.00

26-412-10B-DE BALL END/SWAGE DECKO TBKL HC 41.25
26-412-10BS BALL END/SWAGE TBKL HC 1/8 35.25
26-412-10D OPEN BUTTON/SWAGE HC TBKL 1/8 37.75

26-412-10-DE DECKO TBKL H.C. 1/8 WIRE TO 38.00
26-412-10F SOLID BUTTON TO SWAGE HC TBKL 40.00

26-412-10F-DE SOLID BUTTON & SWAGE DECKO 42.25
26-412-10FL SOLID BUTTON TO SWAGE HC TBKL 42.00
26-412-10FS SOLID BUTTON TO SWAGE HC 36.00

26-412-10FSL SOLID BUTTON TO SWAGE HC 38.25
26-412-10F-WJ WIDE JAW TO SWAGE TBKL 47.00

26-412-10I HC TBKL W/INTRUPT SWAGE 1/8 35.00
26-412-10IB HC BALL & INTRUPT SWAGE TBKL 38.25
26-412-10IF SOLID BUTTON TO SWAGE HC TBKL 39.25

26-412-10IXLF SOLID BUTTON & SWAGE TBKL H.C. 41.50
26-412-10LB BALL END/SWAGE HC TBKL 1/8 41.00

26-412-10LF-DE BUTTON TO HAND CRIMP TBKL 1/8" 44.00
26-412-12 HAND CRIMP TUBULAR TBKL 1/8 40.25
26-412-1T DECK TOGGLE TBKL HC 1/8 WIRE 38.50

Page 20



26-412-1T-12 DECK TOGGLE TBKL 37.75
26-412-1T-DE HC DECK TOGGLE DECKO TBKL 1/8 40.00
26-412-1TS DECK TOGGLE TBKL HC 1/8 WIRE, 33.75

26-412-3 HC TBKL WITH STUDS BOTH ENDS 41.75
26-412-3DE DECO SWAGE TO SWAGE 1/8" H/C 45.00
26-412-3S HC TUBULAR TBKL CRIMP/CRIMP 40.25
26-412-DE HC DECKO TBKL 1/8 43.25
26-412-PB JAW&HAND CRIMP TUBULAR TBKL 47.00
26-412S SHORT HC TBKL 1/8 37.25

26-412S-12 HAND CRIMP TUBULAR TBKL 1/8 36.25
26-412S-PB JAW TBKL HC SHORTIE 37.25

26-415 HAND CRIMP `T'TOGGLE JAW 1/8 22.25
26-415-1T HC DECK TERMINAL 1/8 17.25
26-415-5-6 CRIMP TO CRIMP STUD 1/8" WIRE 30.25
26-415-L THREADED TERMINAL HC 1/8"" 17.50

26-415-PB T STYLE TOGGLE JAW HAND CRIMP 27.50
26-500 SMOOTH LINE THREADED 35.75

26-500-L SMOOTH LINE THREADED 34.00
26-600 SMOOTH LINE TOGGLE JAW HC 1/8" 43.75

26-600-1 SMOOTH LINE DECK TERMINAL HC 40.00
26-610 SMOOTH LINE BUTTON TERMINAL 32.00

26-610-B SMOOTH LINE BALL TERMINAL HC 44.25
26-610-F SMOOTH LINE BUTTON TERMINAL 45.25

26-610-LB SMOOTH LINE BALL TERMINAL HC 38.50
26-610-LF SMOOTH LINE BUTTON TERMINAL 39.50
26-703-4 TERMINAL TUNER 1/4-28 W 1/8" 23.50

26-703-4TT HC TERMINAL TUNER BLIND 24.00
26-713-4 BEVEL HEAD TERMINAL TUNER 1/4- 26.25

26-713-4TT BEVEL TERMINAL TUNER BLIND 26.75
26-715 HAND CRIMP SMOOTH LINE TBKL 51.50

26-715-1 DECK TOGGLE SMOOTHLINE TBKL 47.75
26-715-PB JAW&HAND CRIMP S/L 55.00
26-725-10 1/8" HC SMOOTHLINE T/B W/SHORT 49.25
26-725B 1/8 SMOOTHLINE W/SHORT BALL 50.75
26-725-F SOLID BUTTON SMOOTHLINE TBKL 50.25
26-725-L 1/8" HC SMOOTHLINE TBKL W/LONG 48.50

26-725-LB BALL END SMOOTHLINE TBKL 1/8 51.50
26-725-LF SOLID BUTTON SMOOTHLINE TBKL 52.50

26-784 MINI SNAP GATE HOOK W/ 1/8" 54.50
26-803-4 BALL END TERMINAL TUNER 1/4-28 28.25

26-803-4TT BALL END TERMINAL TUNER 1/4-28 28.75
26-884 HC GATE HOOK OVER CTR - 1/8" 92.00
27-302 ADJUSTER-LL 3/16 HC 47.25
27-316 H.C. 3/16"WIRE `42 SER.'JAW TO 82.25

27-316-10F OPEN BODY SOLID BUTTON TO 80.50
27-316-1T HC OPEN BODY TBKL W/ DECK 79.00
27-316-EB 3/16 HC OPEN BODY EYE TO CRIMP 84.25

Page 21



27-326-EB STANTON VIDEO tublr, slotted body, 55.50
27-401 HANDCRIMP TUBULAR TBKL 3/16 62.75
27-402 HC TBKL JAW END OLD STYLE 47.50

27-402-1 HC DECK TOGGLE TBKL OLD STYLE 52.50
27-403 HANDCRIMP TUBULAR PELICAN 45.50
27-404 HANDCRIMP SAFELK PELICAN 54.50
27-405 HANDCRIMP TOGGLE JAW 3/16 24.25

27-405-1 HC DECK TOGGLE 3/16 WIRE - OLD 29.50
27-405-5 3/16 TJ STUD FOR 27-405 HAND 8.75

27-405-5AN HC STANCHION TERMINAL 15.25
27-405-5B HC BALL END TERMINAL 3/16 WIRE 14.25
27-405-5D HAND CRIMP STANCHION 12.75
27-405-5F HC STANCHION TERMINAL W/SOLID 15.25

27-406 HANDCRIMP ADJUSTER 3/16 WIRE 27.75
27-406NP ADJUSTER HC 3/16" WIRE SHORT 26.50

27-407 HANDCRIMP SINGLE GATE EYE 3/16 39.25
27-408 HANDCRIMP INTERLOCKING GATE 80.25

27-408-100 INTERLOCKING GATE EYE-EYE TO 148.50
27-409 HC SINGLE SWIVEL GATE EYE 3/16 32.00
27-410 HC INTERLOCKING SWIVEL GATE 60.50
27-412 T TOGGLE JAW/SWAGE HAND 44.00

27-412-10 3/16 HAND CRIMP TO INTERUPTED 34.25
27-412-10AN-DE ACORN NUT & SWAGE DECKO TBKL 42.25

27-412-10B BALL/SWAGE TBKL HC 3/16 WIRE 39.50
27-412-10B-DE HC BALL/SWAGE DECKO TBKL 3/16 42.75

27-412-10BL BALL/SWAGE TBKL HC 3/16 WIRE 41.50
27-412-10BS BALL/SWAGE HC TBKL 3/16 WIRE, 36.75
27-412-10D OPEN BUTTON/SWAGE 38.00

27-412-10-DE DECKO TBKL H.C. 3/16 WIRE TO 43.00
27-412-10F SOLID BUTTON & SWAGE TBKL H.C. 40.50

27-412-10F-DE SOLID BUTTON & SWAGE DECKO 43.00
27-412-10FL-DE SOLID BUTTON & SWAGE TBKL H.C. 45.00

27-412-10FS SOLID BUTTON & SWAGE TBKL 37.00
27-412-10F-WJ WIDE JAW TO SWAGE TBKL 46.00

27-412-10I HC SWAGE TBKL 3/16 WITH ALL 33.25
27-412-10I6-XLF SOLID BUTTON & SWAGE TBKL H.C. 47.50

27-412-10IB HC BALL/INTRUPT SWAGE TBKL 38.75
27-412-10IF SOLID BUTTON & SWAGE TBKL H.C. 39.50

27-412-10IXLF SOLID BUTTON & SWAGE TBKL H.C. 42.00
27-412-10L HC TO LONG ROD NO BUTTON 37.00

27-412-10LB LONG BALL END TBKL 3/16 41.50
27-412-10LF SOLID BUTTON TO SWAGE TBKL- 42.50

27-412-12 HC TUB. TBKL RH 3/16 41.25
27-412-1T HC TBKL DECK TOGGLE-'T' STYLE 38.75

27-412-1T-12 HC T STYLE DECK TOGGLE 39.25
27-412-1T-DE HC DECK TOGGLE DECKO TBKL 40.50
27-412-1TS SHORT HC T STYLE DECK TOGGLE 34.50

Page 22



27-412-1TS-12 SHORT HC T STYLE DECK TOGGLE 35.75
27-412-6 HC TBKL WITH STUDS BOTH ENDS 43.75

27-412-6-86 3/16" HAND CRIMP TBKL TO TBKL 67.50
27-412-6DE DECKO SWAGE TO SWAGE 44.75
27-412-6S CRIMP TO CRIMP 3/16" WIRE SHORT 38.75
27-412-DE HC DECKO TBKL 3/16 44.25
27-412-PB HC TUBULAR TURNBUCKLE T 47.25
27-412S SHORT 27-412 TBKL 38.25
27-415 HANDCRIMP `T' TOGGLE JAW 3/16 20.50

27-415-1T HC DECK TOGGLE 3/16" 15.50
27-415-4X 3/16" HC CUSTOM TERMINAL 2.25
27-415-5 3/16-3 TJ STUD T BOLT HAND CRIMP 9.25

27-415-5-6 CRIMP TO CRIMP STUD 3/16 WIRE 26.50
27-415-L 3/16" RH HAND CRIMP TERMINAL 15.75
27-415NP TOGGLE JAW HC 3/16" WIRE W/O 19.25
27-415-PB T STYLE TOGGLE JAW HC 3/16 25.00
27-415SV HANDCRIMP "T" TOGGLE JAW 3/16 23.50
27-415-XL 3/16" WIRE X 9" LONG ALL THREAD 23.25

27-500 SMOOTH LINE THREADED 32.50
27-500-L SMOOTH LINE THREADED 31.25
27-600 SMOOTH LINE TOGGLE JAW HC 40.50

27-600-1 SMOOTH LINE DECK TERMINAL HC 36.50
27-600-LJNP SMOOTH LINE LONG JAW W/O PIN 44.75

27-612 SMOOTH LINE TERMINAL HC 3/16" 34.00
27-612-B SMOOTH LINE BALL TERMINAL HC 41.00
27-612-F SMOOTH LINE BUTTON TERMINAL 42.00

27-612-LB SMOOTH LINE BALL TERMINAL HC 35.75
27-612-LF SMOOTH LINE BUTTON TERMINAL 36.75
27-703-6 TERMINAL TUNER 1/4-28 W/ 3/16" 26.25

27-703-6TT TERMINAL TUNER HC BLIND 26.75
27-713-6 BEVEL HEAD TERMINAL TUNER 1/4- 29.00

27-713-6TT BEVEL HEAD TERMINAL TUNER 1/4- 29.50
27-715 HANDCRIMP SMOOTH LINE TBKL 49.75

27-715-1 3/16" HC SMOOTHLINE DECK 44.50
27-715-PB JAW&HAND CRIMP S/L 53.25

27-725 3/16" HC SMOOTHLINE, SHORT ROD 41.50
27-725-10 3/16" HC SMOOTHLINE T/B 48.00

27-725-10IF SMOOTHLINE TBKL 3/16 HC W/ 8" 51.00
27-725B 3/16 SMOOTHLINE W/SHORT BALL 46.25
27-725-F HC SMOOTH LINE-SHORT STUD & 47.00
27-725-L SMOOTHLINE 3/16 H/C 36.50

27-725-LB SMOOTH LINE WITH FULL BALL HC 48.25
27-725-LF SMOOTHLINE TBKL-W/SOLID 49.00

27-725-XLF 27-725-LF WITH EXTRA LONG ROD 47.75
27-786 MINI SNAP GATE HOOK W/ 3/16" 55.25

27-803-6 BALL END TERMINAL TUNER 1/4-28 30.75
27-803-6TT BALL END TERMINAL TUNER 1/4-28 31.25

Page 23



27-886 HC GATE HOOK OVER CTR - 3/16" 92.50
27-886-12 HC GATE HOOK 3/16 RH-OVER 92.50

28-501 DIAMOND PAD EYE 20.00
29-501 PULPIT ANCHOR 13.50
29-502 STANCHION EYE 17.00
29-503 GATE STOP 3/16" ID SS 8.75

29-503-1 GATE STOP FOR 3/16 WITH 8.25
29-504 GATE STOP 1/4  L.L. COLLAR 1/4ID 8.75
29-505 GATE STOP 5/16 W/ 3/16" LONG SET 8.75
29-506 GATE STOP 3/8 10.00
29-507 GATE STOP 1/8" ID SS 20.50

3/8-9/16-PE 3/8-9/16 RH PULLING EGG 22.75
3/8-9/16-PELH 3/8-9/16 LH PULLING EGG 22.75

30-206EX 5/16-24LH X 2" PELICAN HOOK 20.75
30-208EX "T" BOLT SWAGE END 1/4 WIRE 3/8- 42.50

30-318-7-5CT 3/8-16 X 3" STUD FOR 1/4" WIRE 28.50
30-601 1/4-28LH X 3/8 LIFELINE STUD 1/8* 11.50
30-602 1/4-28LH X 1 1/2 LIFELINE STUD 1/8* 13.50

30-602-1 1/4-28RH X 1 1/2 LIFELINE STUD 13.00
30-602-1SP 1/8"WIRE,1" THREAD RH 8.50

30-603 1/4-28LH X 2 1/2 LIFELINE STUD 1/8* 13.00
30-603-1 1/4-28RH X 2 1/2 LIFELINE STUD 1/8 13.75

30-603-1-85 1/4-28 X 8.5" LONG THREAD 1/8" MS 31.25
30-603-1L 1/4-28RH X 2 1/2 LIFELINE STUD 7- 21.50

30-603-1SP 1/4-28RH X 3.5" SPECIAL LIFELINE 18.75
30-603-1SP3 6" X 2.5" 1/4-28RH THREAD 23.00
30-603-1TT 1/4-28 BLIND THREAD 1/8" WIRE 12.75

30-604 10-32RH X 3 LIFELINE STUD 1/8 33.50
30-604-1 10-32LH X 1 7/8 LIFELINE STUD 1/8 34.75

30-604-RH 10-32RH X 1-7/8 1/8"WIRE 33.00
30-605 1/4-28LH X 2 1/2 LIFELINE STUD 1/8 13.50

30-605-1 1/4 28 RH X 2 1/2 LL STUD 1/8 14.25
30-606 5/16-24LH X 3/8 LIFELINE STUD 3/16 10.25
30-607 5/16-24LH X 2 LIFELINE STUD 3/16* 17.75

30-607-1 5/16-24RH X 2 LIFELINE STUD 3/16* 17.75
30-607S 5/16-24LH X 1 1/2 LL STUD 3/16 14.50

30-607S-1 5/16-24RH X 1-1/2 LL STUD 3/16 13.00
30-608 1/4-28LH X 2 1/2 LIFELINE STUD 19.25

30-608-1 1/4-28RH X 2 1/2 LIFELINE MS STUD 19.25
30-608-1S 1/4-28RH X 1 1/2 LL STUD 3/16 16.50

30-608-1TT 1/4-28 BLIND THREAD 3/16" WIRE 17.50
30-608S SHORT 1/4-28 LL STUD LH 16.00
30-609 1/4-28RH X 3 3/4 LIFELINE STUD 3/16 26.25
30-610 1/4-28LH X 2 1/2 LIFELINE STUD 3/16 20.00
30-611 3/8-24LH X 3/8 LIFELINE STUD 1/4* 22.75

30-611-7 5/16 L.H. STUD FOR 1/4" GATE 19.50
30-612 3/8-24LH X 1 1/2 LIFELINE STUD 1/4 38.75

Page 24



30-612-2 5/16-24LH X 2 LIFELINE STUD 1/4 25.00
30-612-2-7 5/16-24LH X 2" 1/4 WIRE 7/32 24.75
30-612EX 5/16-24LH X 2" MIL SPEC 1/4" WIRE 27.75

30-613 3/8-24LH X 3 LIFELINE STUD 1/4* 37.25
30-613-1 3/8-24RH X 3 LIFELINE STUD 1/4* 36.75

30-613-1-7 3/8-24 RH STUD FOR 7/32 SWAGE 44.00
30-613-7 3/8-24 LH STUD FOR 7/32 SWAGE 57.75
30-615 5/16-24LH X 2 3/4 LIFELINE STUD 24.75

30-615-1 5/16-24RH X 2 3/4 LIFELINE STUD 24.75
30-615-1AM 1/4" STUD W/NUT & ACORN 25.00
30-615-1S 5/16-24 X 1-1/2 THREADED 16.25

30-615-1TT 5/16-24 BLIND THREAD 1/4" WIRE 21.25
30-621 1/4-28LH X 2 1/2 LIFELINE STUD 16.00

30-621-1 1/4-28RH X 2 1/2 LIFELINE STUD 15.50
30-622 1/4-28LH X 3/8 LIFELINE STUD 5/32 18.50
30-623 1/4-28LH X 1 1/2 LIFELINE STUD 5/32 28.25

30-623-1 5/16-24LH X 2 LIFELINE STUD 5/32 18.25
30-623-1S 5/16-24LH X 1-1/2 LIFELINE STUD 14.00
30-623S TYPE316 5/32 SWAG 5/16-24LH X 1 13.00
30-624 5/32 WIRE STUD SWIVEL EYE 11.50
30-625 5/32 WIRE X 5/16 L.H. X 2" LONG 13.75
311-1 ADJUSTMENT SCREW FOR 53-215 4.00
312-1 ADJUSTMENT SCREW WASHER 10.25

31-601 1/4-28LH X 3/8 HC L.L. STUD 1/8 13.50
31-602 1/4-28LH X 1 1/2 HC L.L. STUD 1/8 14.25

31-602-1 1/4-28RH X 1 1/2 HC LL STUD 1/8" 14.25
31-603 1/4-28LH X 2 1/2 HC L.L. STUD 1/8* 16.00

31-603-1 1/4-28RH X 2 1/2 HC L.L. STUD 1/8* 15.25
31-603-1S 1/4-28 X 1 1/2RH HC STUD 1/8W 13.75

31-603-1TT 1/4-28 BLIND THREAD 1/8" WIRE 14.25
31-603S 1/4-28 X 1 1/2LH HC STUD 1/8W 14.25
31-604 1/4-28LH X 2 1/2 HC L.L. STUD 1/8 17.25
31-605 5/16-24LH X 3/8 HC L.L. STUD 3/16 15.00
31-606 5/16-24LH X 2 HC L.L. STUD 3/16 16.00

31-606-1 5/16-24RH X 2 HC L.L. STUD 3/16 14.50
31-607 1/4-28LH X 2 1/2 HC L.L. STUD 3/16* 16.50

31-607-1 1/4-28RH X 2 1/2 HC L.L. STUD 3/16* 16.25
31-607-1S 1/4-28RH X 1 1/2 HC LL STUD 3/16 15.25

31-607-1TT 1/4-28 BLIND THREAD 3/16" WIRE 16.25
31-607S 1/4-28LH X 1 1/2 HC LL STUD 3/16 15.50
31-608 1/4-28LH X 2 1/2 HC L.L. STUD 3/16 17.25

31-608-1 1/4-28 RH X 2 1/2 HC L.L. STUD 3/16 18.25
31-609 1/4-28 RH x 3 3/4 HC L.L. STUD 22.50
320W 1/2"OD X .265ID X .030 THICK 0.75

3216CH316SS 5/16-18 X 1 SS HEX CAP SCREW 18- 8.50
321W 18-8 SS AN 960C FLAT WASHER 5/16 0.75
322W 18-8 SS AN 960C FLAT WASHER 3/8 1.00

Page 25



323W TYPE 316 SS AN 960C FLAT 1.00
324W TYPE 316 SS AN 960C FLAT 3.25
325W 18-8 SS AN 960C FLAT WASHER 3/4" 9.25
32-601 1/4-28LH X 2 1/2 RIGGING STUD 3/32 30.50
32-602 1/4-28LH X 2 1/2 RIGGING STUD 1/8 31.50
32-603 1/4-28LH X 2 1/2 RIGGING STUD 5/32 34.25
32-604 10-32LH X 1 7/8 RIGGING STUD 1/16* 24.00
32-605 10-32LH X 1 7/8 RIGGING STUD 3/32* 24.50

32-605-1 10-32 RH X 1 7/8 RIGGING STUD 3/32 25.50
32-607 1/4-28LH X 2 1/2 RIGGING STUD 20.00
32-608 1/4-28LH X 2 1/2 RIGGING STUD 1/8* 19.50
32-609 1/4-28LH X 2 1/2 RIGGING STUD 22.00
32-610 1/4-28RH X 2 1/2 RIGGING STUD 23.00
32-611 1/4-28RH X 2 1/2 RIGGING STUD 1/8* 22.00

32-611S 1/4-28RH X 1-1/2 RIGGING STUD 1/8 22.00
32-612 1/4-28RH X 2 1/2 RIGGING STUD 29.25
32-613 10-32RH X 3 RIGGING STUD 1/16 25.50
32-614 10-32RH X 3 RIGGING STUD 3/32 33.00
32-616 1/4-28RH X 3 3/4 RIGGING STUD 1/8 37.50
32-617 1/4-28 RH 3 3/4 RIGGING STUD 5/32 45.50
32-618 5/16-24RH X 2 3/4 RIGGING STUD 21.75
32-619 5/16-24RH X 2 3/4 RIGGING STUD 29.00

32-619EX 3/16 WIRE SWAGE END W/ 5/16- 39.75
32-620 3/8-24RH X 3 RIGGING STUD 3/16* 34.00

32-620-1 3/8-24LH X 3 RIGGING STUD 3/16 22.75
32-620-CT 32-620 W/ 3/8" COARSE THREAD 29.25

32-621 3/8-24RH X 3 RIGGING STUD 7/32* 57.75
32-622 3/8-24RH X 3 RIGGING STUD 1/4* 53.50

32-622-1 3/8-24LH X 3" RIGGING STUD 1/4" 54.25
32-622EX 3/8-24RH X 3 LIFE LINE STUD 1/4" 35.50

32-623 3/8-24RH X 4 RIGGING STUD 3/16  90.00
32-624 3/8-24RH X 4 RIGGING STUD 7/32 128.00
32-625 3/8-24RH X 4 RIGGING STUD 1/4 112.50
32-626 1/2-20RH X 3 1/2 RIGGING STUD 1/4* 73.00

32-626-1 1/2-20 LH X 3 1/2 RIGGING STUD 1/4 65.00
32-626-C3 SPECIALTY PIECE FOR LEXCO 203.50

32-627 1/2-20RH X 3 1/2 RIGGING STUD 60.50
32-628 1/2-20 RH X 3 1/2 RIGGING STUD 84.25

32-628-1 LEFT HAND VERSION OF # 32-628 58.50
32-629 5/8-18RH X 4 1/4 RIGGING STUD 99.00

32-629-1 5/8 X 18 LH X 4-1/4 STUD 5/16" 99.00
32-630 5/8-18RH X 4 1/4 RIGGING STUD 3/8* 137.50

32-630-1 LEFT HAND THREAD 32-630 137.50
32-631 5/16-24RH X-LONG RIGGING STUD 26.50
32-632 5/16-24RH X-LONG RIGGING STUD 27.75
32-633 3/8-24RH X-LONG RIGGING STUD 36.75
32-634 3/8-24RH X-LONG RIGGING STUD 37.00

Page 26



32-635 3/8-24RH X-LONG RIGGING STUD 1/4 54.25
32-636 1/2-20RH X-LONG RIGGING STUD 1/4 62.00
326W 18-8SS FLAT WASHER .453ID X 0.50

32NS316SS 5/16 - 18 SS LOCK NUT/ NYLON 8.50
33-46-500LH 46 SERIES LH JAW 5/8" W/O PINS  245.75
33-46-500RH 46 SERIES RH JAW 5/8" W/ HANDLE 303.00
33-46-501LH 46 SERIES LH JAW 1/2" W/O PINS 284.75
33-46-501RH 46 SERIES RH JAW 1/2" W/ HANDLE 322.25

33-601 10-32RH TURNBUCKLE JAW 11.50
33-601-1 10-32RH DECK TOGGLE 12.25
33-601NP 10-32RH TBKL JAW W/O PINS 8.25

33-602 10-32LH TURNBUCKLE JAW 11.50
33-602NP 10-32LH TBKL JAW W/O PINS 8.50

33-603 1/4-28RH TURNBUCKLE JAW T 26.50
33-604 1/4-28LH TURNBUCKLE JAW T 26.50
33-605 1/4-28RH TURNBUCKLE JAW  23.75

33-605-1 DECK TOGGLE 1/4-28RH OLD STYLE 31.25
33-605-1-L 1/4" OLD STYLE DECK TOGGLE 33.75
33-605-516 1/4-28RH TURNBUCKLE JAW W/ 23.00

33-605C 1/4-28RH OLD STYLE JAW 24.25
33-605C-1  OLD STYLE 1/4-28RH DECK 36.75
33-605-E CUSTOM THREADED EYE W/JAW 49.50
33-605-L 1/4-28RH LONG TURNBUCKLE JAW 22.75

33-605-XL 04 SERIES OLD STYLE JAW W/ 11" 209.00
33-606 1/4-28LH TURNBUCKLE JAW 25.50

33-60-605-1L TOGGLE NUT STYLE DECK 39.25
33-60-617 SMOOTHLINE JAW ASSEMBLY W/ 60- 19.25

33-60-617-1T SMOOTHLINE DECK TOGGLE W/ 60- 15.50
33-60-617NP SMOOTHLINE JAW ASSEMBLY 17.50

33-60-618 1/4" WIRE SMOOTHLINE JAW ASSY 29.75
33-60-618-1T 1/4" WIRE SMOOTHLINE DECK 30.25

33-606C 1/4-28LH OLD STYLE JAW 26.50
33-607 5/16-24RH TURNBUCKLE JAW 25.75

33-607SS 5/16-24RH OLD STYLE JAW W/SS 27.00
33-607SS-2 TOGGLE JAW 1/4-28RH WITH 5/16 22.75
33-607SSNP 5/16 RH OLD STYLE TOGGLE JAW 21.50

33-608 5/16-24LH TURNBUCKLE JAW 25.75
33-608SS 5/16-24LH OLD STYLE JAW W/SS 27.00

33-609 3/8-24 RH TBKL JAW OLD STYLE 45.25
33-609-5 3/8-24 RH TBKL JAW OLD STYLE W/ 65.00
33-609C 3/8-24RH OLD STYLE JAW W/ 44.00
33-610 3/8-24 LH OLD STYLE TOGGLE JAW 48.50

33-610C 3/8-24LH OLD STYLE JAW 61.75
33-611 1/2-20RH TURNBUCKLE JAW 100.25

33-611NP 1/2-20RH JAW W/O PIN 82.50
33-612 1/2-20LH TURNBUCKLE JAW 118.00
33-613 5/8-18RH TURNBUCKLE JAW 226.00

Page 27



33-614 5/8-18LH TURNBUCKLE JAW 225.00
33-614QR 5/8-18LH TBKL JAW W/ QR PIN 221.75

33-615 1/4-28RH TURNBUCKLE JAW T 15.25
33-615-1 RH DECK TOGGLE  1/4-28 13.75

33-615-1S 1/4-28RH SHORT DECK TOGGLE 13.75
33-615NP 1/4-28RH T STYLE TOGGLE JAW 13.25

33-615-PBN 1/4-28RH TBKL JAW  W/ PARTITION 22.25
33-615S 1/4-28RH SHORT TBKL JAW 14.50

33-615S-NP 1/4-28RH SHORT T STYLE TOGGLE 12.75
33-615S-PB 1/4-28RH SHORT TBKL JAW  W/ 22.00

33-616 1/4-28LH T STYLE JAW 16.25
33-616-1 1/4-28 LH DECK TOGGLE 12.25

33-616-1S 1/4-28 LEFT HAND DECK TOGGLE 14.00
33-616NP 1/4-28LH T STYLE TOGGLE JAW W/O 14.25
33-616S SHORT TOGGLE JAW-NO HOLE 14.00
33-617 5/16-24 RH 'T' TOGGLE JAW 21.25

33-617-1 5/16-24RH 'T' STYLE DECK TOGGLE 21.75
33-617-NP 5/16-24 RH 'T' TOGGLE JAW 18.50

33-618 5/16-24 LH 'T' TOGGLE JAW 21.75
33-618-1 5/16-24LH T STYLE DECK TOGGLE 22.00
33-619 3/8-24RH 'T' STYLE TBKL JAW 34.50
33-620 3/8-24LH T STYLE TBKL JAW 34.25
34-601 10-32 TUBULAR TURNBUCKLE BODY 14.50

34-601L 10-32 TUBULAR TBKL BODY 8.250" 23.50
34-602 1/4-28 TUBULAR TURNBUCKLE 24.00

34-602-DE DECKO BODY WITH SLEEVES 29.75
34-602S 1/4-28 TUBULAR TBKL BODY SHORT 21.75
34-603 5/16-24 TUBULAR TURNBUCKLE 28.75

34-60-316 SMOOTH LINE END FITTING BODY 36.50
34-604 5/16-24 TUBULAR/SLOTTED TBKL 47.25
34-605 3/8-24 TUBULAR TURNBUCKLE 50.00

34-60-500 SMOOTH LINE END FITTING BODY 25.25
34-60-502 SMOOTH LINE END FITTING BODY 32.25
34-60-504 SMOOTH LINE END FITTING BODY 54.50

34-606 3/8-24 TUBULAR/SLOTTED TBKL 73.25
34-607 1/2-20 TUBULAR/SLOTTED TBKL 93.75

34-607-2 1/2-20 TBKL BODY NO SLOT 09 56.25
34-608 5/8-18 TUBULAR/SLOTTED TBKL 93.25

34-608-2 5/8-18 TUBULAR BODY, NO SLOT 10 66.50
34-608-3 46 SERIES BODY W/SQUARE 108.50
34-609 1/4-28 TUBULAR/SLOTTED TBKL 38.50
34-610 1/4-28 OPEN TURNBUCKLE BODY 60.00
34-611 5/16-24 OPEN TURNBUCKLE BODY 77.25
34-612 3/8-24 OPEN TURNBUCKLE BODY 127.00
34-613 1/2-20 OPEN TBKL BODY 145.00
34-614 5/8-18 OPEN TBKL BODY 226.00

34-CT-90 FINISHED COOLER TBKL BODY 41.50

Page 28



34-LS-90 LIFE SPLICE TURNBUCKLE BODY 62.50
35-599 5/16-24 RH ACORN NUT 18-8 CAP 4.75
35-600 18-8SS 1/4-28 ACORN CAP NUT  RH 3.25

35-600-10 18-8SS 1/4-28 ACORN CAP NUT  RH  35.00
35-600-100 18-8SS 1/4-28 ACORN CAP NUT  RH  289.50
35-600-50 18-8SS 1/4-28 ACORN CAP NUT  RH  148.00

35-601 10-32 RH LOCK NUT 18-8 SS 1.75
35-601-1 10-32 RH LOCK NUTS-2/PER 7.75
35-602 10-32 LH LOCK NUT 5.00

35-602-1 10-32 LH LOCK NUTS-2/PER 23.75
35-603 1/4-28 RH LOCK NUT TYPE 316 1.50

35-603-1 1/4-28 RH LOCK NUTS-2/PER 6.50
35-603-10 1/4-28 RH LOCK NUT TYPE 316 13.00

35-603-100 1/4-28 RH LOCK NUT TYPE 316 107.25
35-603-3 RH 01 SERIES NUTS 17.25

35-603-50 1/4-28 RH LOCK NUT TYPE 316 53.75
35-603CT 1/4-20 FINNISH JAM NUT 18-8 1.75
35-603WN 1/4-28RH STAINLESS STEEL 10.00

35-604 1/4-28 LH LOCK NUT 316 SS 2.75
35-604-1 1/4-28 LH LOCK NUTS-2/PER 6.50
35-604-3 LH SQUARE NUTS FOR 01 SERIES 19.50
35-605 5/16-24 RH LOCK NUT 2.25

35-605-1 5/16-24 RH LOCK NUT-2/PER 7.00
35-605FS 5/16-24 RH FULL FINISH HEX NUT 18- 2.25
35-605WN 5/16-24RH STAINLESS STEEL NUT 10.50

35-606 5/16-24 LH LOCK NUT 2.25
35-606-1 5/16-24 LH LOCK NUTS-2/PER 5.75
35-607 3/8-24 RH LOCK NUT 2.75

35-607-1 3/8-24 RH LOCK NUTS-2/PER 6.50
35-607FS 3/8-24 RH FULL FINISH HEX NUT 18- 3.00

35-607FSCT 3/8-16 RH FULL FINISH HEX NUT 3.00
35-608 3/8-24 LH LOCK NUT 11.00

35-608-1 3/8-24 LH LOCK NUTS-2/PER 22.00
35-609 1/2-20 RH LOCK NUT TYPE 316 7.25
35-610 1/2-20 LH LOCK NUT TYPE 316 13.50
35-611 5/8-18 LOCKING NUTS RH 9.75

35-611FS 5/8-18 FULL FINISH HEX NUT 18-8 8.75
35-612 5/8-18 LOCKING NUT LH 16.75
35-620 1/4-28 LH KNURLED NUT 11.00
35-621 5/16-24 LH KNURLED NUT 10.75

35-621-1 5/16-24 RH KNURLED NUT 10.50
35-622 1/4-28 LH KNURLED NUT 9.25

35-622-1 1/4-28 RH KNURLED NUT 9.25
35-623 10-32 RH KNURLED NUT 14.00

35-623-1 10-32 KNURL NUT LH 4.00
35-624 1/4-28 KNURLED NUT RH 23.00
35-703 1/4-28 TERMINAL TUNER BODY 14.50

Page 29



35-703-4 TERMINAL TUNER 1/4-28 W/ 1/8" 24.50
35-703-4TT TERMINAL TUNER MS 1/8" BLIND 24.00

35-703-6 TERMINAL TUNER 1/4-28 W/ 3/16" 27.00
35-703-6L TERMINAL TUNER 1/4-28 X 2-1/2 W/ 29.00

35-703-6TT TERMINAL TUNER MS 3/16" BLIND 27.50
35-705 5/16-24 TERMINAL TUNER BODY 13.50

35-705-8 TERMINAL TUNER 5/16-24 W/ 1/4" 25.75
35-705-8TT TERMINAL TUNER MS 1/4" BLIND 28.50

35-713 TERMINAL TUNER 1/4-28RH W/82 17.25
35-713-4 BEVEL HEAD TERMINAL TUNER 1/4- 27.25

35-713-4TT BEVEL HEAD BLIND TRHD 26.75
35-713-6 BEVEL HEAD TERMINAL TUNER 29.75

35-713-6TT BEVEL HEAD TERMINAL TUNER 30.25
35-803 BALL END TERMINAL TUNER TUNER 19.25

35-803-4 BALL END TERMINAL TUNER 1/4-28 29.00
35-803-4TT BALL END BLIND TRD TERMINAL 28.75

35-803-6 BALL END TERMINAL TUNER 1/4-28 31.75
35-803-6TT BALL END BLIND TRHD TERMINAL 33.25

35-805 5/16-24 BALL TERMINAL TUNER 16.50
35-805-8 BALL END TERMINAL TUNER 5/16-24 28.50

35-805-8TT BALL END TERMINAL TUNER 5/16-24 31.50
35-90-621 5/16-24LH KNULED NUT FOR 90 11.50

35-90-621-1 5/16-24RH KHURLED NUT FOR 90 10.25
36-601 07 SERIES RETAINING RING 2 PACK 12.50
36-602 06 SERIES LOCK RING 3/8 2 PACK 16.50
36-603 09 SERIES LOCK RING 2 PACK 18.25
36-604 10 SERIES LOCK RING 2 PACK 19.50
36-605 04 SERIES LOCK RING 2 PACK 14.00
36-610 MACHINE SWAGE CONVERSION 4.00

36-610-100 MACHINE SWAGE CONVERSION 380.00
36-611 HC CONVERSION SLEEVE COPPER 6.25

36-611-1 HC CONVERSION SLEEVE-6/PER 38.00
37-400 CUSTOM RACK LAYLINE REGATTA 1031.25
37-501 RIGGING/LIFELINE REPLACEMENT 802.00
37-503 COTTER, RING & CLEVIS PIN PARTS 530.25
37-504 SMALL BOAT KIT 57.50
37-505 LARGE BOAT KIT 168.75
37-510 COTTER PIN KIT 71.50
37-520 50 DRAWER CABINET 2179.50
37-540 TURNBUCKLE REPLACEMENT 2511.50
37-541 LIFE LINE REPLACEMENT PARTS 2267.25
37-550 COTTER PINS P.O.P. DISPLAY (100 483.00

37-550-1 COTTER PIN P.O.P DISPLAY(200 898.75
37-551 CLEVIS PIN P.O.P. DISPLAY (80 747.50
37-560 RAIL MOUNTED P.O.P. DISPLAY 1917.50
38-201 SPLIT BACKSTAY ADJUSTERS- 65.75
38-202 SPLIT BACKSTAY ADJUSTER- 72.75

Page 30



38-203 SPLIT BACKSTAY ADJUSTER-SHV & 76.50
38-210 DIAMOND PLATE 1/4 16.50
38-211 DIAMOND PLATE 5/16 (PR) 28.50
38-212 DIAMOND PLATE 3/8 (PR) 52.00
38-213 REPLACEMENT SHEAVE-38 SERIES 16.25
38-220 PLATE, FRONT & BACK, 38 SERIES 8.25
38-222 BUSHING     38 SERIES BACKSTAY 5.25
38-230 ALUM.SHEAVE B/S ADJ 39 SERIES 12.25
38-231 SPACER SLEEVE B/S ADJ 4.25
38-232 PLATE, FRONT & BACK BS ADJ. 39 11.50
38-236 SHACKLE STAMPING 39 SERIES 9.75

38-3056 BLACK DELRIN SHEAVE (38 SERIES) 4.25
39-201 SPLIT BACKSTAY ADJUSTER- 101.75
39-202 SPLIT BACKSTAY ADJUSTER- 98.75
39-203 SPLIT BACKSTAY ADJUSTER - SHV 109.00
39-213 REPLACEMENT SHEAVE-39 SERIES 14.25
39-300 SPLIT BACKSTAY ADJUSTER W/ 130.00
39-301 3" ALUMINUM SHEAVE ANNODIZED 26.25

39-302-1 EXTREME SERIES SPLIT BACKSTAY 11.25
39-303 X SERIES DIAMOND PLATE W/ 1/2" 66.00

39-303-1 X SERIES DIAMOND PLATE 5/8" 44.00
39-303-2 X SERIES DIAMOND PLATE 3/4" TOP 56.75
39-304 EXTREME SPLIT BACKSTAY 28.25

3SNC010C 3/8 HEX ACORN NUT 10-24THREAD 1.50
3SNMS010C 10-24 MACHINE THREAD HEX NUT 0.50

3SSC904C0014 1/4-20 X 7/8 HEX CAP SCREW 1.75
3SSC904F0104 HEX HEAD 1/4-28MS 1 1/4 1.75
3SSC904F0108 HEX HEAD 1/4-28 MS 1 1/2 2.00
3SSC905F0008 5/16-24X1/2 HEX CAP SCREW 1.00
3SSMSL10F012 SLOTTED FILLISTER HD M/S 10- 1.25
3SSMSP94C006 1/4-20X3/8 SLT PH M/S 18-8 1.25
3SSMSR10C008 10-24X1/2 RDHEAD SLOTTED MS 18- 0.50
3SSMSR94C104 1/4-20 X 1 1/4 RD HD SCREW 18-8SS 1.25

40-2 RAIL MOUNT HOSE CLAMP 6.25
40-5 BRACKET 40 SERIES ROUND 20.00

40-501 ROLLER FURLING FAIRLEAD- 35.00
40-502 ROLLER FURLING FAIRLEAD-S.S. 55.75
40-503 SWIVEL FURLING FAIRLEAD 70.25
40-505 ROLLER FURLING BAIL 36.00

40-505-1 STANCHION CLAMP -BAIL W/ 5.50
40-506 ADD-A-CLEAT 42.75

40-506-R2 CLEAT STAMPING 11.50
40-508 CABLE CRADLE (2) 36.00
40-509 CABLE CRADLE (3) 37.75

40-509-0 "J" HOOK DBL CABLE CRADLE 3.00
40-509-01 CABLE CADDY STAMPING (SINGLE) 1.75

40-511 HORIZONTAL ANTENNA MOUNT 52.25

Page 31



40-511-1 ANTENNA MOUNT WITH ROTATION 55.25
40-512 ANTENNA MOUNT 57.25

40-512-1 ANTENNA MOUNT WITH ROTATION 60.75
40-512-1-0 THREADED LUG, ANTENNA MOUNT 20.75
40-513-4 ROTATION PLATE 8.75
40-518 SHROUD CLEAT 30.75

40-518-3 SHROUD CLEAT STAMPING 23.75
40-518HP 40-518 HARDWARE PACKAGE 5.75
40-519-1 "U" BOLT 10-24 THREAD 2.75

40-5-2 ROUND 40 SERIES BRACKET WITH 28.00
40-529 BACKSTAY FLAG HALYARD KIT OBS 93.75
40-530 SPREADER FLAG HALYARD KIT 93.25

40-530HP 40-530 HARDWARE PACKAGE 62.50
40-531 TUNA TOWER FLAG HALYARD KIT 129.25
40-532 FLAGSTAFF SOCKET - 3/4" 44.75
40-533 FLAGSTAFF SOCKET - 1" 44.75

40-548-2 1" DIAMETER FLAG HOLDER 8.50
40-560 SWIVEL PLATE, FAIR LEAD 12.50
42-104 OLD STYLE JAW/SWAGE OPEN 72.50
42-110 T STYLE JAW/JAW OPEN BODY 62.75

42-110-2 T STYLE JAW/JAW BRONZE OPEN 36.75
42-113 T STYLE JAW/SWAGE OPEN BODY 67.00

42-113-2 T STYLEJAW/SWAGE BRONZE 41.50
42-114 T STYLE JAW/SWAGE OPEN BODY 66.75

42-114-12 T STYLE JAW/SWAGE OPEN BODY 63.25
42-114-2 T STYLE JAW/SWAGE BRONZE 40.00
42-115 T STYLE JAW/SWAGE OPEN BODY 70.25

42-115-2 T STYLE JAW/SWAGE BRONZE 43.50
42-20-306 1/4-21/4-28 OPEN BODY 66.50
42-302P OPEN BODY TO INTERLOCKING 126.00
42-304-6 OPEN BODY-GATE EYE TO STUD 72.50
42-306-6 3/16" GATE EYE TO SWAGE OPEN 74.25
42-314 T STYLE JAW/SWAGE OPEN BODY 61.50

42-314-10F 1/8" TO INTERUPTED THREAD W/ 60.50
42-314-12 T STYLE JAW/SWAGE OPEN BODY 62.00
42-314-1T DECK TOGGLE TBKL OPEN BODY 58.50
42-314-6 SWAGE/SWAGE OPEN BODY TBKL 61.25

42-314-PB T STYLE JAW/SWAGE OPEN BODY 60.00
42-315 T STYLE JAW/SWAGE OPEN BODY 63.25

42-315-12 OPEN BODY JAW AND SWAGE 61.00
42-316 T STYLE JAW/SWAGE OPEN BODY 65.00

42-316-10B OPEN BODY BALL TO SWAGE TBKL 63.00
42-316-10F STANCHION TERMINAL 63.75
42-316-12 T STYLE JAW/SWAGE OPEN BODY 65.25
42-316-1T DECK TOGGLE TBKL OPEN BODY 62.00
42-316-2 T STYLE JAW/SWAGE OPEN BODY 40.75
42-316-6 SWAGE/SWAGE OPEN BODY TBKL 67.75

Page 32



42-316-NP T STYLE JAW/SWAGE OPEN BODY 63.75
42-316P 3/16" GATE EYE TO SWAGE OPEN 74.75
42-316-X T STYLE JAW/SWAGE OPEN BODY 57.75

42-50 BODY WITH LH OLD STYLE TOGGLE 60.00
42-60 1/4-28 PLATED BRONZE BODY W/LH 54.25

42-60-1 BODY WITH RH T STYLE JAW 54.00
43-100 JAW/JAW OPEN BODY 94.50
43-105 JAW/SWAGE OPEN BODY TBKL 5/32 94.50
43-106 JAW/SWAGE OPEN BODY TBKL 3/16 99.00
43-110 T STYLE JAW/JAW OPEN BODY 91.75

43-110-2 T STYLE JAW/JAW BRONZE OPEN 88.00
43-110LN 5/16-24 STD. TBKL W/LOCKNUTS-T- 90.25

43-115 T STYLE JAW/SWAGE OPEN BODY 93.75
43-115-2 T STYLE JAW/SWAGE BRONZE 65.25
43-116 T STYLE JAW/SWAGE OPEN BODY 97.25

43-116-2 T STYLE JAW/SWAGE BRONZE 97.25
43-116EX T STYLE JAW/SWAGE OPEN BDY 97.00
43-308-7 OPEN BODY TURNBUCKLE BARREL 112.50
43-318-7 T STYLE JAW/SWAGE CHROME 92.25

43-50 TBKL BODY WITH LH JAW BARREL 82.25
43-60-1 5/16" BRONZE PLATED OPEN TBKL 75.25
44-100 JAW/JAW OPEN BODY 146.25
44-106 JAW/SWAGE OPEN BDY TBKL 3/16 - 142.25
44-107 JAW/SWAGE OP BDY TBKL 7/32 155.00
44-108 JAW/SWAGE OP BDY TBKL 1/4 WIRE- 142.75
44-110 T STYLE JAW/JAW OPEN BODY 135.75

44-110-2 T STYLE JAW/JAW BRONZE OPEN 71.50
44-116 T STYLE JAW/SWAGE OPEN BODY 135.00

44-116-2 T STYLE JAW/SWAGE BRONZE 74.75
44-117 T STYLE JAW/SWAGE OPEN BODY 147.75

44-117-2 T STYLE JAW/SWAGE BRONZE 89.00
44-118 T STYLE JAW/SWAGE OPEN BODY 135.50

44-118-12 T STYLE JAW/SWAGE OP BDY TBKL 171.00
44-118-2 T STYLE JAW/SWAGE BRONZE 88.25
44-118EX T STYLE JAW/SWAGE OPEN 133.00

44-150 EYE TO EYE, OPEN BODY 3/8 126.25
44-308 CHROME OPEN BODY TBKL 1/4 137.00

44-308-6 SWAGE/SWAGE OPEN BODY TBKL 127.50
44-318 T STYLE JAW/SWAGE CHROME 131.50
44-50 TBKL BODY WITH LH JAW TOGGLE 123.25

44-50-2 TBKL BODY WITH LH JAW -- 57.00
44-60 44 SERIES 3/8-24 OPEN BODY 116.00

45-100 JAW/JAW OPEN BODY 237.50
45-108 JAW/SWAGE OPEN BODY 222.00

45-108-6 SWAGE/SWAGE OPEN BODY TBKL 183.50
45-109 JAW/SWAGE OPEN BODY 220.50
45-110 JAW/SWAGE OPEN BODY 271.00

Page 33



45-110E LH WELDED EYE TO 5/16" WIRE 232.00
45-50 1/2" TBKL BODY W/LH JAW 180.50

46-250-1 ANCHOR CHAIN STOPPER 5/16" 148.25
46-250-2 ANCHOR CHAIN STOPPER 3/8" 138.00
46-250SA EXTENDER W/5/16 TRUNION 30.75

46-250SA1 EXTENDER W/5/16 TRUNION 58.00
46-250SA2 EXTENDER W/5/16 TRUNION 45.50

46-251 HANDLE ANCHOR LOCK 19.25
46-252 INNER LEVER ANCHOR LOCK 18.75
46-253 COMPLETED ANCHOR CHAIN 57.50

46-253MOD COMPLETED MODIFIED ANCHOR 46.50
46-256-1 TRUNION ANCHOR LOCK 9.50
46-257 "J" BOLT HOOK (5/16-24) 5/16" 7.75

46-257-1 "J" BOLT HOOK (16-24) 3/8" 14.00
46-258-1 REDESIGNED ANCHOR CHAIN 3.25
46-450 CLAW-HOOK TENSIONER FOR 1/4", 191.25

46-450-5 "CLAW" HOOK ONLY FOR 46-450 (W/ 82.25
46-450SA NEW ANCHOR CHAIN STOPPER 103.00

46-465 CAPTAIN HOOK CHAIN SNUBBER 139.00
46-465-5 CAPTAIN HOOK W/O EYE SPLICE 62.75
46-470 CLAW-HOOK TENSIONER FOR 3/8" 220.50
46-475 LARGE HOOK W/ 15' OF 5/8" 3 237.00

46-475-5 LARGE HOOK ONLY FOR 3/8" AND 101.00
46-475-6 LARGE ANCHOR CHAIN STOPPER 2.75
46-500 JAW/JAW BACKSTAY TBKL TO 3/8 527.25

46-500-1 FORESTAY QUICK RELEASE TBKL 525.00
46-500-2 FORESTY QUICK RELEASE TBKL 522.50
46-500NP BACKSTAY ADJUSTER W/O PINS 467.25
46-500SA 46 SERIES BODY W/ HANDLE 119.50

46-501 JAW/JAW BACKSTAY TBKL TO 5/16 552.50
46-501-1 FORESTAY QUICK RELEASE TBKL 558.75
46-501-2 FORESTY QUICK RELEASE TBKL 565.25
46-501-4 LOWER HANDLE FINISHED 46 29.25
46-502-2 UPPER HANDLE FINISHED 46 35.25
46-503 UPPER HANDLE ADAPTER 46 13.50

46-503-2 FORESTY QUICK RELEASE TBKL 539.50
46-504 3/4 X 3/4" LOCK RING SQUARE 49.00
46-505 5/8-18 THREADED ROD R.H. 46 78.50

46-505-500 5/8-18RH THREADED ROD W/1/2-20 185.25
46-507 5/8-18 LH JAW ROD 46 SERIES 108.50

46-507-500 5/8-18LH THREADED ROD W/ 1/2- 138.00
47-100 JAW/JAW OPEN BODY 378.25
47-110 JAW/SWAGE OPEN BODY 366.25

47-110E LH WELDED EYE TO 5/16" WIRE 273.00
47-112 JAW/SWAGE OPEN BODY TBKL  3/8 377.50
47-50 5/8" BRONZE OPEN BODY TBKL W/ 297.50

48-510 TOE RAIL MOUNTED CLEAT 133.25

Page 34



48-511-1 WIRE FORM CLEAT 85.75
48-511-2 WIRE FORM CLEAT FOR 48-508 22.50
48-512 DECK CLEAT PLATE/COVER 4.75
48-513 DECK CLEAT SCUFF PLATE 2.25

48-520-2 CLEVIS BRACKET FOR RAIL CLEAT 35.75
48-521-2 GASKETS-SILICON TOP 3.25
48-522 RETAINING BAR FOR RAIL MOUNT 17.00

48-526-0 TRIANGULAR BAIL 18.50
48-527 TRACK SLIDE WITH FOLDING BAIL 104.00
48-532 GASKET(REV 1 & 2) 3.25
48-533 CLEVIS BRACKET STAMPING 7.75
48-540 SEA LUBE (1 OZ BOTTLE) 13.50
48-541 SEALUBE (CASE/24 BOTTLE 1oz 284.25
48-545 1 PINT BOTTLE OF SPOTLESS 32.50
48-560 SOLE MATE 27.25

48-560HP 48-560 HARDWARE PACKAGE 20.00
48-561 SOLE MATES (PR) 54.25

48-561-0 SOLE MATE BRACKET 9.50
48-570 HINGED PADEYE MINI 3/16" 22.75
48-580 HINGED PAD EYE 1/4" 43.75

48-580-3 1/4" D RING WITH HINGE PLATE 28.75
48-580-JBW PAD EYE W/1 PLATE - BULK 35.25

48-581 TOP BRACKET 1/4" "D" RING 21.25
48-581-1 RETAINING PLATE FOR 5/16 PAD 39.50
48-582 BOTTOM PLATE "D" RING 1/4" 6.00

48-582-1 BOTTOM PLATE " D " RING 5/16" 13.25
48-583 FOLDING "D" RING 1/4" 19.00

48-583-1 "D" RING  LARGE 13.50
48-585 HINGED PADEYE - 5/16" 83.75
48-590 3/8" HINGED PAD EYE 316SS 86.00
48-595 1/2" HINGED PAD EYE 316SS 145.00
48-600 SOLE MATE - STEP 7.50
48-800 SMART CATCH DOOR LATCH 163.50
48-801 SMART CATCH DOOR LATCH PIVOT 182.50
49-100 SS JACKLINE FAIRLEAD** 275.00
49-250 INNER FORESTAY STOWAGE 260.00
5/8-PE 5/8 RH PULLING EGG 22.75

5/8-PELH 5/8 LH PULLING EGG 22.75
500-5-1 SWAGE HOOK FOR 1/8" WIRE FOR 11.75

500-5-1SA SWAGE HOOK SUB-ASSEMBLY FOR 313.50
50-115 1" x 15' WHITE RIGGING TAPE 23.75

50-115-12 1" X 15' RIGGING TAPE, WHITE 12 260.00
50-115-24 1" X 15' RIGGING TAPE, WHITE 24 520.00
50-115B 1" X 15' BLACK RIGGING TAPE 23.75

50-115B-12 1" X 15' RIGGING TAPE, BLACK 12 260.00
50-115B-24 1" X 15' RIGGING TAPE, BLACK 24 520.00

50-405 4" X 10' WHITE MAST BOOT TAPE 46.75

Page 35



50-405-12 4" X 10' MAST BOOT TAPE, WHITE 530.00
50-405-6 4" X 10' MAST BOOT TAPE, WHITE 6 270.00
50-410SV 10m x 50mm BLACK RIGGING TAPE 66.25

52-124 ADAPTER LINK PLATE 5/16 18.25
52-125 ADAPTER LINK PLATE 3/8 20.00

52-125-5 ADAPTER LINK PLATE 3/8 WITHOUT 20.00
52-126 ADAPTER LINK PLATE 1/2" 28.00

52-126-1 ADAPTER LINK PLATE 3/8" TO 1/2" 33.75
52-127 ADAPTER LINK PLATE 5/8 42.00

52-127-1 ADAPTER LINK PLATE SPACER 56.00
52-127-5 LINK PLATE BUSHING 1/2 TO 5/8 2.75
52-128 ADAPTER LINK PLATE 3/4 41.25
52-179 -12 ADAPTER STUD 61.50
52-368 LINK PLATE STAMPING 9.25
52-369 LINK PLATE STAMPING 7.50
52-370 ADAPTER LINK PLATE   1/2" 12.00
52-371 LINK PLATE 5/8 STAMPING 20.00
52-372 3/4 " LINK PLATE STAMPING 9.25
52-537 LINK PLATE 1/2" STAMPING 9.50
53-210 BOLT TYPE CRIMPER TOOL 52.00
53-215 LEVER ARM CRIMPER TOOL 272.00
53-218 CABLE CUTTER TO 3/16" (QUICK 35.00
53-220 CABLE CUTTER TO 1/4" (FELCO) 299.00
53-222 FELCO C-12 CUTTER TO 3/8" 510.00

53-222/224B BASE FOR BENCH MOUNTING 183.00
53-224 FELCO C-16 Cable Cutter Through 740.00
53-300 PROFESSIONAL TENSION GAUGE  188.75

53-305-1 3/8 X 3/4 SHSS BOLT 12.50
53-307-1 5/16-18 LOCKING HEX NUT 4.00
53-400 TBKL ADJUSTMENT TOOL-03 & 04 16.25
53-410 TBKL ADJMT TOOL-05,06 & 16.50
54-800 INNER FORESTAY RELEASE LEVER 948.00
54-810 INNER FORESTAY RELEASE LEVER 985.00
54-820 INNER FORESTAY RELEASE LEVER 974.00
54-850 INNER FORESTAY RELEASE LEVER 959.00
54-860 INNER FORESTAY RELEASE LEVER 891.00
54-870 INNER FORESTAY RELEASE LEVER 918.00

54-BT06-15 JAW STAMPING 06 SERIES WITH 11.50
56-304-5B 1/8" WIRE QUICK FIT BALL END 35.50
56-304-5F 1/8" WIRE QUICK FIT DOME CAP 36.00

56-314 1/8" WIRE QUICK FIT JAW 47.50
56-314-1T 1/8" WIRE QUICK FIT DECK TOGGLE 45.75
56-415-1T 1/8" WIRE QUICK FIT DECK TOGGLE 33.25

56-500 1/8" WIRE QUICK FIT ADJUSTER 32.00
56-500-L 1/8" WIRE QUICK FIT ADJUSTER 33.25

56-500-XL 1/8" WIRE QUICK FIT ADJUSTER 33.00
60-102 1/4" STAINLESS WASHER TYPE 316 1.25

Page 36



60-103 5/16 FLAT WASHER 0.75
60-104 18-8 SS AN 960C FLAT WASHER 3/8 0.75

60-200-10 .265 x .875 x .050 THICK, 18-8 17.25
60-200-100 .265 x .875 x .050 THICK, 18-8 155.50
60-200-50 .265 x .875 x .050 THICK, 18-8 79.25

60-40 SMOOTHLINE BODY 32.25
60-50 3/16" SMOOTHLINE W/END CAP 44.75

60-508 1/8" AND 3/16" SMOOTHLINE END 21.75
60-508-1 1/4" SMOOTHLINE END FITTING 30.00

60-600-SO SO WASHER FOR 1/8" TERMINATOR 1.50
60-601 SPECIAL 1/4" FLAT WASHER FOR 1.75

60-601-SO 18-8 SS WASHER FOR STAND OFFS 1.00
60-602 OPEN BUTTON END CAP 1/4-28RH 7.75

60-602-6 OPEN FLAT CAP 1/4-28 LH 6.25
60-602-90 THREADED CAP FOR 90 SERIES 10.50
60-602C 1/4-28 RH CONE END 5.00
60-602-D SOLID BUTTON CAP 1/4-28 RH 12.75

60-602THIN OPEN FLATCAP 1/4-28RH  3/16 4.50
60-603 OPEN FLAT CAP 5/16-24THRD 18- 7.25

60-603-D SOLID BUTTON CAP 5/16-24 RH 10.00
60-603-LH OPEN FLAT CAP 5/16 LH 4.50
60-603-SO 18-8 SS AN 960C FLAT WASHER 1.00

60-604 30 DEGREE STAND OFF 11.00
60-604-35 35 DEGREE STAND OFF 12.00

60-605 30 DEGREE STANDOFF-RADIUSED 11.00
60-606 SMOOTHLINE SHORT ROD 10.00

60-606-36 INTERRUPTED THREAD 36" STUD 91.50
60-606-4 INTERRUPTED THREAD 8.75
60-606L SMOOTHLINE SHORT ROD & LUG 16.00
60-607 5-7/8" ROD 1/4 X 28RH THREAD 10.00

60-607L SMOOTHLINE LONG ROD w/LUG 11.00
60-608-1S FINISHED DECKO BODY W/O BRASS 14.75

60-608-2REV7 SMOOTHLINE T/B BODY W/O 20.75
60-608-3 1/4" WIRE SMOOTHLINE BODY ONLY 43.50
60-609 BRASS THD SLEEVE 1/4-28IDRH X 7.00

60-609-1 1/4" WIRE SMOOTHLINE THREADED 10.00
60-609-1LH 1/2-20OD. X 5/16-24LHID. THREADED 10.50

60-609L 3/8-24RH X 1/4-28 LH BRASS 9.25
60-609L-1 3/8-24RH X 1/4-28RH BRASS SLEEVE 7.25

60-610 S.L. NOSE CONE - 1/8" WIRE 15.00
60-610-1 5/32 NOSE CONE FOR SMOOTH 14.75
60-611 S.L. NOSE CONE 3/16" 12.75

60-611-1 1/4" WIRE SMOOTHLINE END CAP 13.75
60-612 MACH. SWAGED SMOOTHLINE 7.00

60-612-1 1/4" WIRE SMOOTHLINE SWAGE 16.00
60-613 1/8 SMOOTHLINE SWAGE SLEEVE 10.00
60-614 30 DEG. ANGLE STANDOFF FOR 13.00

Page 37



60-614-35 35 DEG. ANGLE STANDOFF FOR 14.00
60-614B THREADED FULL BALL NUT 1/4- 10.25
60-615 RADIUSED, 30 DEG. ANGLE 15.00

60-615B FULL BALL 5/16-24 9.25
60-615V VERSA BALL 5/16-24 6.50
60-616 STANDOFF FOR 1.5" SCHEDULE 80 11.25
60-617 T' BOLT SMOOTH LINE 1/4-28 RH 9.25
60-619 HAND CRIMP SMOOTHLINE 14.50

60-619-S SHORT 3/16" WIRE SMOOTHLINE 7.50
60-620 MS SMOOTHLINE SWAGE SLEEVE 12.00

60-643-D 5/8 DIAMETER SOLID BUTTON CAP 8.50
60-644 30 DEGREE STAND OFF 3/4" DIA OD 15.00

60-645-B 5/16-24RH 3/4" DIAMETER CHROME 7.75
60-700 JAW/SWAGE SMOOTHLINE TBKL 1/8 46.25

60-700-1 DECK TOGGLE SMOOTH LINE TBKL - 44.50
60-700-PB JAW/SWAGE SMOOTHLINE 51.25

60-701 JAW/SWAGE SMOOTHLINE TBKL 48.50
60-702 JAW/SWAGE SMOOTHLINE TBKL 47.50

60-702-1 SMOOTHLINE W/DECK TOGGLE - 46.50
60-702-8 3/8 PIN TOGGLE JAW SMOOTHLINE 66.50

60-702-PB JAW&SWAGE SMOOTHLINE 51.00
60-704 1/4" WIRE SMOOTHLINE TBKL 79.50

60-704-1 1/4" WIRE SMOOTHLINE TBKL 78.75
60-710-L SMOOTHLINE TBKL 1/8 WIRE 43.50

60-710-LB SMOOTHLINE TBKL BALL END  1/8 48.00
60-710-LF SOLID BUTTON SMOOTHLINE TBKL 48.00

60-712 SMOOTHLINE SHORT ROD, NO 42.75
60-712-B SMOOTHLINE 3/16 WIRE, BALL, 46.25
60-712-L SMOOTHLINE 3/16" WIRE W/ROD 44.50

60-712-LB SMOOTHLINE TBKL BALL END  3/16 48.25
60-712-LF SOLID BUTTON SMOOTHLINE TBKL 48.25

60-712-XLB SMOOTHLINE TURNBUCKLE 3/16" 59.00
60-712-XLF EXTRA LONG SOLID BUTTON 48.50

60-714-L 1/4" WIRE SMOOTHLINE TBKL END 71.50
60-714-LB 1/4" WIRE SMOOTHLINE TBKL 75.25
60-714-LF 1/4" WIRE SMOOTHLINE TBKL 75.00

60-801 SMOOTHLINE TURNBUCKLE BODY 26.25
60-903-37 37" LONG VERTICL ROD W/DOME 54.50

62-100 GLASS SHELF FITTING 21.75
62-500 ARBOR CLIP 90 DEG. CROSS 31.25
80-101 TERMINATOR 1/8" WIRE 10-24RH, 17.75

80-101-1 TERMINATOR DECK TOGGLE 1/8" 21.00
80-101-2 1/8" WIRE 10-32 FINE THREAD 14.50

80-101-2TJ 1/8" WIRE 10-32 THREAD 18.25
80-103 TERMINATOR 3/16 WIRE 1/4-20RH, 21.00
80-105 TERMINATOR TURNBUCKLE 3/16 25.00
80-107 TERMINATOR TURBUCKLE 1/4" 29.25

Page 38



80-107-1T TERMINATOR TURBUCKLE 1/4" 44.75
80-111 TOGGLE JAW TERMINATOR 19.50
80-54 TERMINATOR, BODY ONLY 1/8" 17.00
80-55 TERMINATOR, BODY ONLY 1/8" 12.50
80-56 TERMINATOR, BODY ONLY 3/16" 20.50
80-66 TERMINATOR, BODY ONLY 1/4" 24.25

90128A628 3/8-16 GRADE 8 SOCKET HEAD CAP 8.00
90-200 COOLER TIE DOWN TBKL 96.75
90-500 COOLER TIE DOWN KIT 239.75

90575A638 3/8-16RH X 3.5" 316SS THREADED 6.50
92313A103 4-40 SET SCREW - SMOOTHLINE 2.00
93250A130 1/4-28 X 36" STAINLESS ALL 83.50

A03BT-2 "T" BOLT 10-32 R.H. 03 series 6.25
A03BT8-1BL 03 SERIES TOGGLE JAW BLANK 3.00
A03BT8-2-DT TRUE 03 SERIES T STYLE DECK 12.00

A03ST02 BODY STRAP STAMPING 73.25
A03ST03 UNPLATED 10-32RH KNURLED NUT 13.25

A03ST03-MOD UNPLATED 10-32LH KNURLED NUT 3.00
A04HL25-1 04 SERIES OLD STYLE JAW 10.25
A04HL25-3 04 SERIES OLD STYLE DECK 24.25
A04HL26 1/4-28X3-1/6 RH SS CLEVIS ROD 7.25

A04HL26-1 1/4-28RH X 2.890 "T" BOLT 316SS 9.00
A04HL27 ROD END, CLEVIS LH 1/4-28 10.25

A04HL27-48 1-4-28 LH 1-1/2" T BOLT 7.50
AN960C5/8 18-8 SS AN 960C FLAT WASHER 5/8" 2.50

AN960-C716 TYPE 18-8SS FLAT WASHER .453ID 0.50
ARC-38 SWAGE STUD 3/8" WIRE  1/2-20RH 118.00

ARS80-107 TERMINATOR TURBUCKLE 1/4" 43.50
AS-M12 ADAPTER SCREW M12 551.25
BA3-2 PLAIN BALL FOR 1/16" WIRE 6.00
BA3-3 PLAIN BALL FOR 3/32" WIRE 7.25

BHS2520-4 BUTTON HEAD BOLT               16.75
BHSCS1/4-28 1/4-28RH X 3" BUTTON HEAD 12.00
BHSCS10-24 10-24RH X 1-1/2 BUTTON HEAD 3.00

BHSCS51618-35 5/16-18 X 3.5" FULLY THREADED 13.50
BHSCS51618-4 5/16-18 X 4" FULLY THREADED 15.50

BPG-2003 PLASTIC BUSHING FOR 1/8" CABLE 0.75
BPG-2020 PLASTIC BUSHING FOR 3/16" CABLE 0.75
BPG-2038 PLASTIC BUSHING FOR 3/16" AND 1.00

BRETT-SPECIAL SPECIAL SWIVEL LONG JAW 57.00
BT04-23 04 BRONZE TOGGLE NUT 1/4-28 RH 14.25

BT04-23LH 1/4-28LH BRONZE TOGGLE NUT 6.25
BT04-23LHPL 1/4-28LH BRONZE TOGGLE NUT - 6.50

BT04-23PL PLATED 04 SERIES 1/4-28RH 16.25
BT05-1  TOGGLE JAW STAMPING 5/16 7.75

BT05-1-2 "T" TOGGLE JAW 5/16 12.75
BT05-5 STUD ONLY FOR 22-100 24.00

Page 39



BT05-50 DECK TOGGLE STAMPING "T" 18.00
BT05-6-SL 5/16-24RH X 6" INTERUPTED 10.25

BT06-1 06 SERIES JAW STAMPING BLANK 11.75
BT06-1-2 JAW STAMPING 'T' STYLE 06 24.50
BT06-15 JAW STAMPING 06 SERIES 23.25
BT08-1 1/2 CLEVIS STAMPING 09 SERIES 42.25

BT10-15 TOGGLE STAMPING 100.50
BT10-16 5/8-18 BRONZE TOGGLE NUT 121.25
BT-10-19 5/8-18RH THREADED 316SS ROD 10 73.25
BT-10-20 5/8-18LH TREADED 316SS ROD 10 73.50
BT5-16 BRONZE CLEVIS NUT 05 SERIES 15.00

BT5-16SS 05 SERIES SS CLEVIS NUT 14.50
BT5-19 5/16-24 THREADED ROD R.H. 10.00

BT5-19-1 5/16-24RH 'T'BOLT 316SS 05 SERIES 15.50
BT5-19-1-5 SHORT 'T' 5/16-24RH X 1/2LG THRD 8.75
BT5-19-1SL 1/4" SMOOTHLINE "T" BOLT 21.75

BT5-20-1 5/16-24LH 'T'BOLT 316SS 05 SERIES 19.00
BT6-16 3/8-24 BRONZE CLEVIS NUT 20.50

BT6-16CT 3/8 COARSE THREAD RH BRONZE 13.75
BT6-16LH 3/8-24LH BRONZE TOGGLE NUT 13.75

BT6-16LHPL 3/8-24LH PLATED BRONZE TOGGLE 26.50
BT6-19 3/8-24 RH ROD END 12.50

BT6-20-1 3/8-24 LH 'T' BOLT 21.25
BT8-16 CLEVIS NUT 09 SERIES 38.50

BT8-16LH 09 SERIES LH BRONZE CLEVIS NUT 17.25
BT8-16SS 8 SERIES 316SS TOGGLE NUT 17.25

BT8-19 1/2-20 THREADED ROD R.H. 09 38.75
BUTTONHDSCRW 1/4-28 X 1/2 SS RAIL ADJUSTER 3.00

C-2-2 COTTER PIN  1/16" X 1/2" TYPE 316 0.24
C-2-2-100 COTTER PINS-100  1/16' X 1/2" 21.00
C-2-2-M MONEL COTTER PIN 1/16" X 1/2" 0.24

C-2-2-M-100 MONEL COTTER PINS-100 1/16" X 21.00
C-2-2-P 1/16X1/2 COTTER PIN 30 PACK 10.50
C-2-3 COTTER PIN 1/16" X 3/4" TYPE 316 0.30

C-2-3-100 COTTER PINS-100  1/16" X 3/4" 22.50
C-2-3-P 1/16" X 3/4" COTTER PINS 22 PACK 9.00
C-2-4 COTTER PIN 1/16" X 1" TYPE 316SS 0.30

C-2-4-100 COTTER PINS-100 1/16" X 1" 24.00
C-2-4-P 1/16" x 3/4" TYPE 316 STAINLESS 8.50
C-2-5 COTTER PIN 1/16"X 1 1/4" 1.10

C-2-5-100 COTTER PINS-100  1/16" X 1 1/4" 91.00
C-2-5-P 1/16" X 1-1/4" TYPE 316 STAINLESS 18.00
C-2-6 COTTER PIN 1/16" X 1 1/2"  TYPE 316 0.40

C-2-6-100 COTTER PINS-100 1/16" X 1 1/2" 30.00
C-2-7 COTTER PIN 1/16" X 1 3/4" 0.25

C-2-7-100 COTTER PINS-100 1/16" X 1 3/4" 21.00
C-2-7-P 1/16" X 1-3/4" TYPE 316 STAINLESS 1.00

Page 40



C-3-10 COTTER PIN 3/32" X 2 1/2" 0.90
C-3-10-100 COTTER PINS-100 3/32" X 2 1/2" 74.00
C-3-10-P 3/32" X 2-1/2" TYPE 316 STAINLESS 8.00

C-3-3 COTTER PINS 3/32" X 3/4" TYPE 0.70
C-3-3-100 COTTER PINS-100  3/32" X 3/4" 61.00

C-3-3B 3/32 X 3/4" BRONZE COTTER PIN 1.25
C-3-3-M MONEL COTTER PIN 3/32"X 3/4" 1.50

C-3-3-M-100 MONEL COTTER PINS-100 3/32" X 96.00
C-3-3-P 3/32 X 3/4 316 STAINLESS COTTER 11.00
C-3-4 COTTER PIN 3/32" X 1" TYPE 316 0.80

C-3-4-100 COTTER PINS-100  3/32" X 1" 66.00
C-3-4-P 3/32" X 1" COTTER PINS 9 PACK 11.00
C-3-5 COTTER PIN 3/32" X 1 1/4" 0.90

C-3-5-100 COTTER PINS-100 3/32" X 1 1/4" 74.00
C-3-6 COTTER PIN 3/32" X 1 1/2" TYPE 316 0.90

C-3-6-100 COTTER PINS-100 3/32" X 1 1/2" 65.00
C-3-6-P 3/32" X 1 1/2" COTTER PINS 7 PACK 9.00
C-3-8 COTTER PIN  3/32" X 2" 1.10

C-3-8-100 COTTER PINS-100 3/32" X 2" 88.00
C-3-8-P 3/32" X 2" COTTER PINS  5 PACK 10.00
C-4-10 COTTER PIN 1/8" X 2 1/2" TYPE 1.90

C-4-10-100 COTTER PINS-100 1/8" X 2 1/2" 155.00
C-4-10-P 1/8" X 2-1/2" TYPE 316 STAINLESS 10.00

C-4-4 COTTER PIN  1/8" X 1" TYPE 316 1.10
C-4-4-100 COTTER PINS-100 1/8" X 1" 88.00

C-4-4B 1/8 x 1" BRONZE COTTER PIN 1.30
C-4-4-M MONEL COTTER PIN 1/8" X 1" 2.80

C-4-4-M-100 MONEL COTTER PINS-100 1/8" X 1" 260.00
C-4-4-P 1/8" X 1" COTTER PINS  6 PACK 10.00
C-4-5 COTTER PIN 1/8" X 1 1/4" TYPE 316 1.10

C-4-5-100 COTTER PINS-100  1/8" X 1 1/4" 94.00
C-4-6 COTTER PIN 1/8" X 1 1/2" TYPE 316 1.10

C-4-6-100 COTTER PINS-100 1/8" X 1 1/2" 90.00
C-4-6-P 1/8" X 1 1/2" COTTER PINS 4 PACK 7.00
C-4-7 COTTER PIN  1/8" X 1 3/4" 0.60

C-4-7-100 COTTER PINS-100 1/8" X 1 3/4" 46.00
C-4-8 COTTER PIN  1/8" X 2" 1.30

C-4-8-100 COTTER PINS-100 1/8" X 2" 107.00
C-4-8-P 1/8" X 2" COTTER PINS 3 PACK 7.50
C-5-10 COTTER PIN  5/32" X 2 1/2" 1.60

C-5-10-100 COTTER PINS-100 5/32" X 2 1/2" 130.00
C-5-10-P 5/32"  X 2-1/2" TYPE 316 STAINLESS 5.25

C-5-5 COTTER PIN 5/32" X 1 1/4" 1.75
C-5-5-100 COTTER PINS-100 5/32" X 1 1/4" 116.00

C-5-5B 5/32 X 1-1/4" BRONZE COTTER PIN 3.25
C-5-5-M MONEL COTTER PIN 5/32"X 1 1/4" 2.75

C-5-5-M-100 MONEL COTTER PINS-100 5/32"X 1 225.00

Page 41



C-5-5-P 5/32" X 1 1/4" COTTER PINS 3 PACK 8.00
C-5-7 COTTER PIN 5/32" X 1 3/4" TYPE 316 1.80

C-5-7-100 COTTER PINS-100 5/32" X 1 3/4" 135.00
C-5-7M MONEL COTTER PINS 5/32 X 1 3/4 2.75
C-5-7-P 5/32" X 1 3/4" COTTER PINS 2 PACK 8.00
C-5-8 COTTER PIN 5/32" X 2" TYPE 316 2.25

C-5-8-100 COTTER PINS-100 5/32" X 2" 140.00
C-5-8-P 5/32" 2" TYPE 316 STAINLESS 8.00
C-5-9 COTTER PIN 5/32" X 2 1/4" 1.80

C-5-9-100 COTTER PINS-100  5/32" X 2 1/4" 130.00
C-5-9-P 5/32" X 2/14" COTTER PINS  2 PACK 6.50
C-6-10 COTTER PIN 3/16 X 2-1/2 T 316SS 4.00

C-6-10-100 COTTER PINS-100 3/16 X 2-1/2 T316 356.00
C-6-10-P 3/16" X 2 1/4" COTTER PINS 2 PACK 12.00
C-6-12 COTTER PIN  3/16" X 3" TYPE 316 SS 4.00

C-6-12-100 COTTER PINS-100  3/16" X 3" 300.00
C-6-12-P 3/16" X 3" COTTER PIN PACK (2) 10.00

C-6-6 COTTER PIN  3/16" X 1 1/2" TYPE 316 3.50
C-6-6-100 COTTER PINS-100 3/16" X 1 1/2" 245.00

C-6-6B 3/16 X 1-1/2" BRONZE COTTER PIN 3.50
C-6-6-P 3/16 X 1 1/2 316 STAINLESS COTTER 9.50

CP-10-34 CLEVIS PIN  DIA. 5/8"  GL 1 1/16" 37.00
CP-10-34-100 CLEVIS PINS-100 3,200.00
CP-10-34-P CLEVIS PIN POLY PACK 1 PCS PACK 45.00
CP-10-40 CLEVIS PIN  DIA. 5/8"  GL 1 1/4" 33.00

CP-10-40-100 CLEVIS PINS-100 2,700.00
CP-10-40B BRONZE CLEVIS PIN 5/8" DIA. 1- 75.00
CP-10-40-P CLEVIS PIN POLY PACK 1 PC PACK 33.00
CP-10-40X 5/8" DIA X 1-17/64" GRIP LENGTH 33.00
CP-10-48 CLEVIS PIN 34.00

CP-10-48-1 CP-10-48 TURNED DOWN TO.613+- 35.00
CP-10-48C CLEVIS PIN AND COTTER PIN FOR 36.00
CP-12-40X 3/4" DIA X 1-17/64" GRIP LENGTH 74.00
CP-12-48 CLEVIS PIN SHORT 61.00

CP-12-48-1 CLEVIS PIN LONG 62.00
CP-12-48-1C CLEVIS PIN AND COTTER PIN FOR 63.00
CP-12-48B BRONZE CLEVIS PIN 3/4" DIA. 1- 84.00

CP-3-13 CLEVIS PIN DIA. 3/16 GL 13/32" 1.80
CP-3-13-100 CLEVIS PINS-100 142.00
CP-3-13-25 25 PACK-CLEVIS PINS 36.00

CP-3-17 CLEVIS PIN DIA. 3/16" GL 17/32" 1.85
CP-3-17-100 CLEVIS PINS-100 72.00
CP-3-17-25 25 PACK CLEVIS PINS 20.00

CP-3-32 CLEVIS PIN  DIA. 3/16" GL 1" 1.90
CP-3-32-100 CLEVIS PINS-100 156.00

CP-3-9 CLEVIS PIN DIA. 3/16" GL. 9/32" 0.75
CP-3-9-100 CLEVIS PINS-100 60.00

Page 42



CP-3-9-25 25 PACK CLEVIS PINS 16.00
CP-4-13 CLEVIS PIN  DIA. 1/4"   GL 13/32" 13.00

CP-4-13-100 CLEVIS PINS-100 1,050.00
CP-4-13-25 25 PACK CLEVIS PIN 270.00

CP-4-16 CLEVIS PIN  DIA. 1/4"  GL 1/2" 2.00
CP-4-16-100 CLEVIS PINS-100 160.00
CP-4-16-25 25 PACK CLEVIS PINS 42.00

CP-4-20 CLEVIS PIN DIA. 1/4" LONG 5/8" 3.50
CP-4-20-100 CLEVIS PIN DIA. 1/4" LONG 5/8" 100 270.00

CP-4-20C CLEVIS PIN AND COTTER PIN FOR 5.00
CP-4-24 CLEVIS PIN  DIA. 1/4"  GL 3/4" 8.00

CP-4-24-100 CLEVIS PINS-100 640.00
CP-4-24-25 25 PACK CLEVIS PINS 170.00

CP-4-40 CLEVIS PIN  DIA. 1/4" GL 1 1/4" 16.50
CP-4-40-100 CLEVIS PINS-100 1,350.00

CP-5-18 CLEVIS PIN  DIA. 5/16"  GL 9/16" 3.50
CP-5-18-100 CLEVIS PINS-100 285.00
CP-5-18-25 25 PACK CLEVIS PINS 74.00

CP-5-22 CLEVIS PIN  DIA. 5/16"  GL 11/16" 2.50
CP-5-22-100 CLEVIS PINS-100 172.00
CP-5-22-25 25 PACK CLEVIS PINS 43.00

CP-5-24 CLEVIS PIN 5.75
CP-5-24C CLEVIS PIN AND COTTER PIN FOR 6.00
CP-5-24-P CLEVIS PIN POLY PACK 2 PER PACK 15.00
CP-5-44 CLEVIS PIN  DIA. 5/16"  GL 1 3/8" 16.50

CP-5-44-100 CLEVIS PINS-100 1,323.00
CP-6-20 CLEVIS PIN  DIA. 3/8"  GL 5/8" 5.25

CP-6-20-100 CLEVIS PINS-100 411.00
CP-6-20-25 25 PACK CLEVIS PINS 103.00
CP-6-20-P CLEVIS PIN POLY PACK 2 PCS PACK 12.00
CP-6-26 CLEVIS PIN  DIA. 3/8"  GL 13/16" 23.00

CP-6-26-100 CLEVIS PINS-100 1,818.00
CP-6-26-25 25 PACK CLEVIS PIN 455.00
CP-6-26B BRONZE CLEVIS PIN  DIA. 3/8"  GL 35.00
CP-6-26-P CLEVIS PIN POLY PACK 2 PCS PACK 45.00
CP-6-32 CLEVIS PIN 21.50

CP-6-32C CLEVIS PIN AND COTTER PIN FOR 22.00
CP-6-32-P CLEVIS PIN 3/8" DIA 15/16" GRIP 23.00
CP-6-34 3/8" DIA X 1-2/32 GRIP LENGTH 23.50
CP-6-52 CLEVIS PIN  DIA. 3/8"  GL 1 5/8" 6.00

CP-6-52-100 CLEVIS PINS-100 360.00
CP-6-52-P CLEVIS PIN 3/8" DIA X 1 5/8" 316SS 9.00
CP-7-28 CLEVIS PIN  DIA. 7/16"  GL 7/8" 8.75

CP-7-28-10 10 PACK CLEVIS PINS 78.00
CP-7-28-100 CLEVIS PINS-100 695.00
CP-7-28-P CLEVIS PIN POLY PACK 1 PCS PACK 12.00
CP-7-40 CLEVIS PIN DIA. 7/16" GL 1-1/4" 32.50

Page 43



CP-7-40C CLEVIS PIN AND COTTER PIN FOR 34.00
CP-7-40-P CLEVIS PIN POLY PACK 1 PC 38.00
CP-7-52 CLEVIS PIN DIA. 7/16"  GL 1 5/8" 32.75

CP-7-52-100 CLEVIS PINS-100 2,612.00
CP-7-52-P CLEVIS PIN POLY PACK 1 PCS PACK 34.00
CP-8-24 CLEVIS PIN  DIA. 1/2" GL 3/4" 26.00

CP-8-24-10 10 PACK CLEVIS PINS 220.00
CP-8-24-100 CLEVIS PINS-100 1,945.00
CP-8-24-P CLEVIS PIN POLY PACK 1 PCS PACK 27.00
CP-8-28 STAINLESS CLEVIS PIN 1/2"DIA X 28.00
CP-8-32 CLEVIS PIN DIA. 1/2"  GL 1" 25.00

CP-8-32-100 CLEVIS PINS-100 1,820.00
CP-8-32B BRONZE CLEVIS PIN DIA. 1/2"  GL 1" 36.00
CP-8-32-P CLEVIS PIN POLY PACK 1 PC PACK 25.00
CP-8-40 CLEVIS PIN LONG 22.00

CP-8-40C CLEVIS PIN AND COTTER PIN FOR 23.00
CPR-3-13-P CLEVIS PIN W/RING PIN POLY PACK 10.00
CPR-3-17-P CLEVIS PIN W/RING PIN POLY PACK 10.50
CPR-3-32-P CLEVIS PIN W/RING PIN POLY PACK 7.50
CPR-3-9-P CLEVIS PIN W/ RING PIN POLY 7.00

CPR-4-13-P CLEVIS PIN W/RING PIN POLY PACK 32.50
CPR-4-16-P CLEVIS PIN W/RING PIN POLY PACK 11.25
CPR-4-20-P CLEVIS PIN W/RING PIN BLISTER PK 11.50
CPR-4-24-P CLEVIS PIN W/RING PIN POLY PACK 18.50
CPR-4-40-P CLEVIS PIN W/RING PIN POLY PACK 26.00
CPR-5-18-P CLEVIS PIN W/RING PIN POLY PACK 12.00
CPR-5-22-P CLEVIS PIN W/RING PIN POLY PACK 13.50
CPR-5-24-P CLEVIS PIN BLISTER PACK 2 PCS 14.50
CPR-5-44-P CLEVIS PIN W/RING PIN POLY PACK 33.50

EB-1 EYE BAIL  22 SERIES 13.00
EN-4 1/4 - 28LH EYE NUT 30.25

EN-4RH 1/4-28RH EYE NUT 17.50
EN-5 5/16-24 L.H.EYE NUT      22 SERIES 30.25

EN-5RH 5/16-24RH 22 SERIES EYE NUT 21.00
EN-6 NUT DETAIL 3/8 - 24 L.H. 18.50

EN6-HD 3/8-24RH EYE NUT - EXTREME 18.50
EN-6RH 3/8-24RH 22 SERIES EYE NUT 9.50

F60-644-35 1/4" THREAD 35/USE WITH WASHER 13.00
F60-644-916 9/16" ID X 3/4" OD BEVELED 13.75
FMQC-1/8 1/8" MODULAR QUICK CONNECT 30.25
FMQC-18 QUICK CONNECT ADJ 1/8" WIRE 30.25
FNW1/4 1/4" ID NYLON WASHER 1.75
FNW-4 1/4-20 RH STAINLESS STEEL NUT 4.50

FNW5/16 5/16" ID PTE NYLON WASHER FOR 1.75
FNW9/16 9/16" ID NYLON WASHER 1.75
FQC-14 QUICK CONNECT FOR 1/4" WIRE 51.00
FQC-18 1/8" QUICK CONNECT 33.75

Page 44



FQC-316 3/16" QUICK CONNECT 52.00
FTT-18 QUICK CONNECT TENSION TOOL 183.50
GA-1P HC GAUGE 51.00

GR19-318-7  J & S TBKL 1/4 WIRE, 5/16 PIN W/O 95.25
JE25-318-7-5-8 25-318-7-5 STUD WITH 5/16-24 X 8" 28.25

JQFRT QUICK RELEASE TOOL FOR 1/8" 13.25
JQFRT-18 QUICK RELEASE TOOL FOR 1/8" 13.50

JQFRT-316 QUICK RELEASE TOOL FOR 3/16" 16.00
LLAD-12 ADJUSTER STAMPING 7.50
LS-10FL SPLICELINE BUTTON END LONG 30.75
LS-10FS SPLICELINE BUTTON END SHORT 32.25
LS-1900 1/4-28 TUBULAR TURNBUCKLE 55.00

LS20-100 1/4-28 SPLICE LINE TO SPLICE LINE 81.75
LS20-100-316SS 1/4-28 316SS SPLICE LINE TO 316SS 89.25

LS-20-304 SPLICE LINE EYE TO SWAGE END 33.50
LS-20-304-316SS SPLICE LINE EYE TO SWAGE END 37.75

LS-20-306 SPLICE LINE EYE TO SWAGE END 34.25
LS-20-306-316SS SPLICE LINE EYE TO SWAGE END 38.50

LS-20-308-7 SPLICE EYE TO 1/4" WIRE SWAGE 35.00
LS-20-308-7-316SS 316 STAINLESS SPLICE EYE TO 1/4" 55.50

LS-2100 OVER CENTER GATE HOOK W/ 117.75
LS-2100-RH OVER CENTER GATE HOOK W/EYE 116.50

LS-2150 MINI OVER CENTER GATE HOOK W/ 71.00
LS-2170 MINI OVER CENTER GATE HOOK W/ 68.00
LS-2200 GATE EYE TO GATE EYE FITTING 62.00
LS-2400 ADJUSTER W/ GATE EYE 44.25
LS-2500 TOGGLE JAW W/GATE EYE W/1/4" 29.00

LS-2500S SWIVEL EYE TO JAW FITTING 35.00
LS-2550 DECK TERMINAL W/ GATE EYE 25.50
LS-2900 TUBULAR TBKL W/SPLICE END 60.00

LS-2900-1T 1/4-28 TUBULAR TURNBUCKLE W/ 57.00
LS-2900-1T-316SS 1/4-28 TUBULAR TURNBUCKLE W/ 63.00

LS-2900-316SS 1/4-28 TUBULAR TURNBUCKLE W/ 66.75
LS-3100 OVER CENTER GATE HOOK 100.00

LS-3100-14 1/4-28 LH OVER CENTER GATE 102.00
LS-3100-14-316SS 1/4-28 LH OVER CENTER GATE 128.75

LS-3100-316SS OVER CENTER GATE HOOK W/ 118.00
LS-3170 MINI GATE HOOK W/SPLICE END 75.75

LS-3170-316SS MINI GATE HOOK W/ 316SS SPLICE 82.00
LS-3200 SPLICE END TO SPLICE END 49.75

LS-3200-316SS 316SS SPLICE END TO 316SS 67.75
LS-3200-316SS-L SPLICE END TO SPLICE END 67.75

LS-3200-L SPLICE END TO SPLICE END 51.00
LS-3300 EYE TO SPLICE END FITTING 50.00

LS-3300-316SS EYE TO 316SS SPLICE END FITTING 67.00
LS-3300-316SS-L EYE TO SPLICE END FITTING 316SS - 56.25

LS-3300-L EYE TO SPLICE END FITTING - 51.25

Page 45



LS-3400 ADJUSTER W/ SPLICE END 44.75
LS-3400-316SS ADJUSTER W/ 316SSSPLICE END 65.50

LS-3600 TOGGLE JAW W/SPLICE END 36.25
LS-3600-316SS TOGGLE JAW W/ 316SS SPLICE END 41.25

LS-3650 DECK TERMINAL W/SPLICE END 32.75
LS-3650-316SS SPLICE LINE DECK TOGGLE 41.00

LS-4200 1/4-28 OPEN BODY TURNBUCKLE 94.00
LS-4255 1/4-28 OPEN BODY TURNBUCKLE 106.50
LS-5200 OPEN BODY TBKL W/SPLICE END 97.50

LS-5200-316SS 1/4-28 OPEN BODY TURNBUCKLE 105.75
LS-90-150 JAW TO EYE SPLICE LINE TBKL 125.00
LS-92-150 EXTRA LENGTH TUBULAR TBKL 130.50

LS-92-150-316SS JAW TO 316SS SPLICE LINE TBKL 139.75
LTG-1 RIGGERS GRADE TENSION GAUGE 233.00

LTG-1M METRIC TENSION GAUGE 2.5MM TO 223.00
LTG-2 RIGGERS GRADE TENSION GAUGE 246.00

LTG-2M METRIC TENSIO GAUGE 5MM TO 234.00
LTG-3 RIGGERS GRADE TENSION GAUGE 560.00

LTG-90B TENSION GAUGE FOR 3/16 - 9/32 170.00
LTG-91A TENSION GAUGE FOR 3/32 - 5/32 170.00

MC06-110 JAW/JAW TUBULAR TBKL - T-STYLE 96.50
MC06-150 3/8-24 LH JAW AND RH EYE 90.25
MC06-650 3/8-24 HOOK AND JAW 86.25

MC09-100-2 JAW/JAW, NO SLOT W/LOCKNUTS 211.00
MC09-150 1/2-20 LH JAW AND RH EYE 182.50
MC09-650 1/2-20 HOOK AND JAW 173.75

MC10-100-2 JAW/JAW TUBULAR TURNBUCKLE 373.50
MC10-150 5/8-18 LH JAW AND RH EYE 270.00
MC10-650 5/8-18 HOOK AND JAW 269.00
MC33-611 1/2-20RH TURNBUCKLE JAW WITH 93.00
MC33-612 1/2-20LH TURNBUCKLE JAW WITH 96.50
MC33-613 5/8-18RH TURNBUCKLE JAW WITH 168.00
MC33-614 5/8-18LH TURNBUCKLE JAW WITH 167.00
MC33-619 3/8-24RH 'T' STYLE TBKL JAW WITH 27.50
MC33-620 3/8-24LH T STYLE TBKL JAW WITH 30.00

MELGES43-115 T STYLE JAW/SWAGE OPEN BODY 74.00
NE025AM-CLG GRAY DYNEEMA CUT LENGTH PER 3.50
NE025AM-CLW WHITE DYNEEMA CUT LENGTH PER 2.75

PB-4-16 PARTITION BOLT 1/4"DIA. X 1/2"GRIP 10.00
PHS14-25 #14 X 2-1/2" PAN HEAD SHEET 2.50

PT25-306-5LH 1/4-28LH X 3/8" THREADED STUD 30.75
QCPC-BLACK QUICK CONNECT PLASTIC CAP- 2.50

QCPC-BRONZE QUICK CONNECT PLASTIC CAP- 2.50
QCPC-BROWN QUICK CONNECT PLASTIC CAP- 2.50
QCPC-CREAM QUICK CONNECT PLASTIC CAP- 2.50
QCPC-GRAY QUICK CONNECT PLASTIC CAP- 2.50

QCPC-GREEN QUICK CONNECT PLASTIC CAP- 2.50

Page 46



QCPC-SILVER QUICK CONNECT PLASTIC CAP - 2.50
QCPC-TAUPE QUICK CONNECT PLASTIC CAP- 2.50
QCPC-WHITE QUICK CONNECT PLASTIC CAP- 2.50

QR-10-40 5/8 X 1 1/4 QUICK RELEASE PIN 44.00
QR-3-20 3/16 X 9/16 QUICK RELEASE PIN 11.75
QR-4-1 BODY SHELL STAMPING 14 SERIES 21.50

QR-4-13 1/4" Q.R. PIN FOR BIRD BARRIER 12.00
QR-4-1MOD OUTER ANCHOR LOCK COVER 16.00

QR-4-1MOD-1 COMPLETED OUTER STAMPING 29.50
QR-4-32 1/4 X 1 QUICK RELEASE PIN 12.50
QR-4-40 1/4 X 1 1/4 QUICK RELEASE PIN 15.00
QR-4X32 1/4" X 3.2" QUICK RELEASE PIN 33.00
QR-5-22 5/16" DIA X 11/16" GRIP LENGTH 16.00
QR-5-28 QUICK RELEASE PIN DIA. 5/16"  GL 21.25
QR-6-26 QUICK RELEASE PIN 3/8 X 13/16 21.00
QR-8-32 1/2 X 1 QUICK RELEASE PIN 35.00

R-1 CIRCULAR PIN   3/16" 0.15
R-1-100 CIRCULAR PINS-100  3/16" 12.25
R-1-P CIRCULAR PINS-POLYPK 7.00
R-2 CIRCULAR PIN 3/16" & 1/4" W/ 0.30

R-2-1 CIRCULAR PIN W/O TAIL 3/16" & 1/4" 0.30
R-2-100 CIRCULAR PINS-100 3/16" & 1/4" 21.00

R-2-1-100 CIRCULAR PIN W/O TAIL-100 20.00
R-2-1-P CIRCULAR PIN W/O TAIL-POLYPK 8.00
R-2-P CIRCULAR PINS-POLYPK 10.00
R-3 CIRCULAR PIN 1/4" TO 3/8" 0.55

R-3-100 CIRCULAR PINS-100 1/4" TO 3/8" 41.00
R-3-P CIRCULAR PINS-POLYPK 13.50
R-4 RING FOR PELICAN HOOK 7/8" ID 1.40

R-4-100 CIRCULAR PINS 100 PACK 110.00
R-4-P CIRCULAR PINS-BLISTER PACK 14.00
R-5 CIRCULAR PIN 1/2" & 5/8" 1.70

R-5-100 CIRCULAR PINS-100 135.00
R-5-P CIRCULAR PINS-POLYPK 16.00

RJE-19-316S SHORT TUBULAR TBKL 3/16 W/ "T" 61.50
RP-10-1-5/8 RIGGING PIN -- 5/8 X 1 5/8 45.00
RP-10-2-1/2 RIGGING PIN 5/8 X 2 1/2 47.00
RP-10-2-1/4 STAINLESS RIGGING PIN 5/8"DIA X 2- 25.25
RP-4-1-1/2 RIGGING PIN -- 1/4 X 1 1/2 12.00

RP-4-2 RIGGING PIN -- 1/4 X 2 13.00
RP-4-2-1/2 RIGGING PIN -- 1/4 X 2 1/2 14.50

RP-5-2 RIGGING PIN -- 5/16 X 2 30.00
RP-5-3-1/2 RIGGING PIN -- 5/16 X 3 1/2 33.00

RP-6-2 RIGGING PIN -- 3/8 X 2 37.00
RP-6-2-5/8 RIGGING PIN -- 3/8 X 2 5/8 40.00

RP-6-4-1/4-P 3/8"X4-1/4"RIGGING PIN-NO HOLES 45.00
RP-7-1-1/2 RIGGING PIN -- 7/16 X 1 1/2 46.00

Page 47



RP-7-2 RIGGING PIN -- 7/16 X 2 46.00
RP-7-2-1/2 RIGGING PIN -- 7/16 X 2 1/2 47.00

RP-8-2 RIGGING PIN -- 1/2 X 2 48.50
RP-8-2-1/2 RIGGING PIN -- 1/2 X 2 1/2 49.00
RP-8-2-1/4 STAINLESS RIGGING PIN 1/2"DIA X 2- 49.00

RP-8-3 RIGGING PIN -- 1/2 X 3 50.00
SL-22-14 SPLICE NUT FITTING 1/4-28RH 29.50

SL-22-516 SPLICE NUT FITTING 5/16-24RH 29.50
SLK-2900 SPLICE LINE KIT W/CLOSED BODY 275.00

SLK-30 SPLICE LINE KIT 30' 492.00
SLK-40 SPLICE LINE KIT 40' 540.00

SLK-40-316SS SPLICE LINE KIT 40' 316SS 574.00
SLK-5200 SPLICE LINE KIT W/OPEN BODY 345.00
SLK-GKA GATE KIT AFT 217.00
SLK-GKM GATE KIT MIDSHIP 285.25

STA LOK FITTINGS CALL FOR PRICING CALL
SP-1 SAFETY PIN 3/16" & 1/4" 2.75

SP-1-100 SAFETY PINS PACK 100 211.25
SP-1-P SAFETY PIN POLY PACK 35.75

SS22-304-100 SINGLE EYE TO INTERLOCKING EYE 60.75
SSCC STAINLESS STEEL CROWN CAP 12.25

SSCHC STAINLESS STEEL BEVEL CAP 12.25
SSDC CHROME DOME 12.25

SSPS-4-6 STAINLESS STEEL PROTECTOR 2.00
TTFP33 TERMINAL TUNER FINISH PLATE 192.75

WRAPC2-20 WRAP PIN 20 PACK FOR 1/4" 172.00
WRAPC2-P WRAP PIN 2 PACK FOR 1/4" 19.50
WRAPC3-20 WRAP PIN 20 PACK FOR 5/16", 3/8" 185.00
WRAPC3-P 3/32 WRAP PIN PACK (2) FOR 5/16 & 19.00
WRAPC4-20 WRAP PINS 20 PACK 7/16", 1/2" 202.00
WRAPC4-P 1/8" WRAP PINS FOR 7/16" AND 1/2" 22.75

X7000 EXTREME SERIES BACKSTAY 721.50
X7050 PR X SERIES DIAMOND PLATE W/ 176.00
X7051 PR X SERIES DIAMOND PLATES W/ 150.00
X7052 196.25AMOND PLATES W/ 3/4"HOLE X 5/8"HO

Page 48


